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$����� 1. �������% �%����/% %�$��&�$�%&�� 

��$�������/: ��.��, %���$�����, �����$'��/� 

$��'�,&�&/ 

 

1.1. ��/%��&��,��/ ����%�� 

�464O= G5?>65> D>6445FEO, E6>57> D>44, <EE?54>64F5?5<. �= ?>7=45F 
<<D, =4G<=4O E <7DGL5>, >=<7, < >5M5=<O E> 67D>E?O<<. �4644 >F>DOF<=, 
EFD5<?5=<5 ?D>=<>=GFL 6 E4<O5 E>>D>65==O5 F4==O 5OF<O D>644NFEO 5M5 6 
45FEF65. �5F< G65 ?> ?D<D>45 E6>5= <EE?54>64F5?<. % 5>?LL<< <=F5D5E>< 
>=< GG4EF6GNF 6 E4<OE D47=OE <EE?54>64F5?LE><E 45?4E. &5EFO =4 
F6>DG5E>GN 4>F<6=>EFL, E>EF46?5==O5 ?E<E>?>74<< ?>>47O64NF, GF> 
=5EF4=44DF=> <OE?OM<E ?N45= ED54< 67D>E?OE ?<LL >>>?> 2%. �4=4>>, MF> 
6>6E5 =5 >7=4G45F, GF> < =5EF4=44DF=> <OE?OM<E 45F5= F4>>5 65 G<E?>. �E5 
45?> 6 F><, GF> GF65D4<6L55EO 6 >F5G5EF65==>< >5D47>64=<< 
?D54EF46?5=<5 >5 >5GG5=<< >4> ?D5<<GM5EF65==> ?D>F5EE5 FD4=E?OF<< 
<=D>D<4F<< ?>4G4E F>D<>7<F ?D>F5EE D476<F<O F6>DG5E><E E?>E>5=>EF5= 
>44D5==OE 45F5=, F5< E4<O< ?<L4O <E 6>7<>6=>EF< ?D>O6<FL E55O. 
�7<5=<FL 6EN E<EF5<G >5D47>64F5?L=>= 45OF5?L=>EF< >G5=L E?>6=>, => 
4>?>?=<FL 55 M?5<5=F4<<, ?>76>?ONM<<< >E>5>5 6=<<4=<5 G45?OFL 
>44D5==O< 45FO<, 6?>?=5 D54?L=>. $54?<74F<O ?D>7D4<<O ?D<=5E5F 
G7?G5?5=<5 < E<EF5<4F<74F<N 7=4=<= L>>?L=<>>6 ?> 7>>?>7<<. �4==4O 
?D>7D4<<4 =5 ?>6F>DO5F F<?>6GN ?D>7D4<<G 7>>?>7>6, D4EEG<F4==GN =4 
>4<= 7>4 >5GG5=<O. �D>7D4<<4 ?D54?>?4745F D4EL<D5==>5 <7GG5=<5 
5<>?>7<<, 4=4F><<< < M>>?>7<< 6<6>F=OE. �5F<, <=F5D5EGNM<5EO 7>>?>7<5=, 
?>?GG4NF >F65FO =4 6E5 6>?D>EO, 6 F>< G<E?5 ?> 6<6>F=><G <<DG E6>57> 
D57<>=4. 

�D>7D4<<4 D47D45>F4=4 6 E>>F65FEF6<< E ?. 2. EF. 32 �4>>=4 $$ «�5 
>5D47>64=<<» < FD55>64=<O< > >5D47>64F5?L=O< ?D>7D4<<4< (>D456O5 
<5F>4<G5E><5 D5>><5=44F<< ?> D47D45>F>5 4>?>?=<F5?L=OE 
>5M5>5D47>64F5?L=OE ?D>7D4<< < ?D>7D4<< M?5>FD>==>7> >5GG5=<O >F 15 
<N?O 2015 7., >D456O5 <5F>4<G5E><5 D5>><5=44F<< ?> ?D>5>F<D>64=<N 
4>?>?=<F5?L=OE >5M5>5D47>64F5?L=OE >5M5D476<64NM<E ?D>7D4<< 
$O54?T6>= �.�., >4=4. ?54. =4G>, 4>F5=F, 746. >4D54D>= 4>?>?=<F5?L=>7> 
>5D47>64=<O ���' «�$�» �D4E=>44DE>>7> >D4O >F 2016 7.). 

1.2. �D>7D4<<4 >DG6>4 «/ - <EE?54>64F5?L» 547<DG5FEO =4 F<?>6>= 
?D>7D4<<5 «.=O= 7>>?>7», <744==>= �<=<EF5DEF6>< >5D47>64=<O 6 1983 
7>4G 4?O GGD5645=<= 4>?>?=<F5?L=>7> >5D47>64=<O E =5>>F>DO<< 
<7<5=5=<O<<. �4?D46?5==>EFL ?D>7D4<<O: 5EF5EF65==>=4GG=4O. 

1.3. �>FG4?L=>EFL, =>6<7=4 ?D>7D4<<O 547<DG5FEO =4 E>6D5<5==OE 
FD55>64=<OE > <>45D=<74F<< >5D47>64=<O. $54?<74F<O ?D>7D4<<O ?D<=5E5F 
G7?G5?5=<5 < E<EF5<4F<74F<N 7=4=<= L>>?L=<>>6 ?> 5<>?>7<<, 74FD47<64O 
D4745?O: 7>>?>7<O, M>>?>7<O, 4=4F><<O 6<6>F=OE, MF>?>7<O, >D456545=<5. � 
?D>7D4<<5 ?D>E?56<645FEO <564<EF<??<=4D=O5 E6O7< E E<<<5=, D<7<>>=. 

�4==4O ?D>7D4<<4 O6?O5FEO <=F57D4F<5= D47=OE >5?4EF5= 7=4=<=, 
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?D54?>?4745F D4EL<D5==>5 <7GG5=<5 5<>?>7<<, 4=4F><<< < 

M>>?>7<<6<6>F=OE. �5F<, <=F5D5EGNM<5EO 7>>?>7<5=, ?>?GG4NF >F65FO =4 

6E5 6>?D>EO, 6 F>< G<E?5 ?> GE?>6<O< E>45D64=<O 6<6>F=OE 6 =56>?5 < ?> 

D47=>>5D47<N 6<6>F=><G <<DG E6>57> D57<>=4. 
�=4<6<4G4?L=O5 74=OF<O, ?D54GE<>FD5==O5 6 GG55=>-F5<4F<G5E>>< 

??4=5, ?D54>EF46?ONF 74<=F5D5E>64==O< D55OF4< 6>7<>6=>EFL 74=<<4FLEO 
G7><<< F5<4<<, ?> 6OO6?5=<N 6<4>6>7> E>EF464 6<6>F=OE E6>57> 7>D>44 <?< 
<<>D>D4=>=4, 4 F4>65 ?> 6OD4M<64=<N 6<6>F=OE 6 =56>?5. 

�EE?54>64F5?LE>4O < ?D>5>F=4O 45OF5?L=>EFL GG4M<EEO O6?O5FEO 
D57G?LF4F<6=O< E?>E>5>< 4>EF<65=<O >4=>= <7 646=5=L<E F5?5= 
>5D47>64=<O: =4GG<FL 45F5= E4<>EF>OF5?L=> <OE?<FL, EF46<FL < D5L4FL 
?D>5?5<O, ?D<6?5>4O 7=4=<O <7 D47=OE >5?4EF5=; G<5FL ?D>7=>7<D>64FL 
64D<4F<6=>EFL D57G?LF4F>6. 

�F?<G<5 >F E<56=OE F<?>6OE ?D>7D4<< 6 F><, GF> 7=4=<O ?> 
7>>?>7<< 44=O 6 E>6D5<5==>= >?4EE<D<>4F<< < ?>?GG5==4O <=D>D<4F<O 
<>65F 5OFL 6>EFD55>64=4 4?O 44?L=5=L5= GG55O. 

�4=OF<O ?> 44==>= ?D>7D4<<5 ?D54?>?474NF ?D<<5=5=<5 GG4M<<<EO 
?>?GG5==OE 7=4=<= 6 D45>F5 N==4F>6-<=EFDG>F>D>6, ?D< GG4EF<< 6 
M>>?>7<G5E><E E?5F4E, >?<<?<444E, D4=>==OE < >D456OE >>=D5D5=F<OE 
5EF5EF65==>=4GG=>7> =4?D46?5=<O. 

1.4. �5447>7<G5E>4O F5?5E>>5D47=>EFL ?D>7D4<<O 74>?NG45FEO 6 
F><, GF> ?>76>?O5F 45FO< =4GG<FLEO ?D4>F<G5E><< ?D<U<4< 
<EE?54>64F5?LE>>= D45>FO, >D>D<?5=<O ?D>5>F>6, E>744=<O ?D575=F4F<=, 
74M<FO D45>FO =4 >>=D5D5=F<OE D47?<G=>7> GD>6=O. 

�4 6D5<O >5GG5=<O 6 >DG6>4E G 45F5= D>D<<DGNFEO =46O><, 
FDG4>?N5<O, G<5=<O D45>F4FL E ?<F5D4FGD>=, G<5=<5 D>D<G?<D>64FL < 
<7?474FL E6>< <OE?<, >D74=<7>6O64FL E>F<4?L=>7=4G<<O5 <5D>?D<OF<O. �5F< 
GG4FEO 55D56=> >F=>E<FLEO > 6<6>F=O< < > ?D<D>45 6 F5?><. ' =<E 
D476<64NFEO >4G5EF64 E??>G5==>EF<, 656?<6>EF< ?> >F=>L5=<N > F>64D<M4< 
< ?N5>7=4F5?L=>EF<. 

� >F?<G<5 >F EGM5EF6GNM<E ?D>7D4<< 5EF5EF65==>=4GG=>= 
=4?D46?5==>EF<, 5>?LL>5 6=<<4=<5 6 ?D>7D4<<5 G45?O5FEO ?D>6545=<N 
?D4>F<G5E>>= D45>FO. %4<>EF>OF5?L=4O ?>EF4=>6>4 4465 E4<OE ?D>EFOE 
=45?N45=<= < >?OF>6 ?D<6<645F GG4M<<EO =46O>< <EE?54>64F5?LE>>7> 
?>4E>44 > O6?5=<O< ?D<D>4O, ?D<GG45F <E > >EF>D>6=><G >F=>L5=<N > 
=45?N445<O< D4>F4<, FD55G5F ?>EF>O==>= E4<>?D>65D><. �E5 MF> 6>>DG645F 
GG4M<EEO G<5=<5< E4<>EF>OF5?L=> D5L4FL ?>EF46?5==O5 ?5D54 E>5>= 7444G<, 
>D<F<G5E>< >F5=<64FL 4>EF<7=GFO5 D57G?LF4FO. 

$45>F4 6 >5N54<=5=<< >D74=<7G5FEO < ?D>6>4<FEO 6 E>>F65FEF6<< E 

=>D<4F<6=O<< 4>>G<5=F4<<: 
- $545D4?L=O= 74>>= $>EE<=E>>= $545D4F<< >F 29 45>45DO 2012 7.  

7 273-$� «�5 >5D47>64=<< 6 $>EE<=E>>= $545D4F<<»;  
-  �D<>47 �<=<EF5DEF64 ?D>E65M5=<O $$ >F 27 <N?O 2022 7>44 7 
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- «�5 GF65D645=<< �>DO4>4 >D74=<74F<< < >EGM5EF6?5=<O 
>5D47>64F5?L=>= 45OF5?L=>EF< ?> 4>?>?=<F5?L=O< >5M5>5D47>64F5?L=O< 
?D>7D4<<4<»; 

- %FD4F57<O D476<F<O 6>E?<F4=<O 6 $>EE<=E>>= $545D4F<< 4> 2025 
7>44, GF65D645==4O D4E?>DO65=<5< �D46<F5?LEF64 $$ >F 29 <4O 2015 
7>44 7 996-D).;  

- �>=F5?F<O D476<F<O 4>?>?=<F5?L=>7> >5D47>64=<O 45F5=, 
GF65D645==4O D4E?>DO65=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 31 
<4DF4 2022 7>44 7 678-D;  

- �>EF4=>6?5=<5 �?46=>7> 7>EG44DEF65==>7> E4=<F4D=>7> 6D4G4 
$>EE<=E>>= $545D4F<< >F 28 E5=FO5DO 2020 7>44 728 «�5 GF65D645=<< 
E4=<F4D=OE ?D46<? %� 2.4.3648-20 «%4=<F4D=>-M?<45<<>?>7<G5E><5 
FD55>64=<O > >D74=<74F<O< 6>E?<F4=<O < >5GG5=<O, >F4OE4 < >74>D>6?5=<O 
45F5= < <>?>456<»;  

- �<EL<>< �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<< >F 18.11.2015             
7 09-3242 «� =4?D46?5=<< <=D>D<4F<<» (�5F>4<G5E><5 D5>><5=44F<< ?> 
?D>5>F<D>64=<N 4>?>?=<F5?L=OE >5M5D476<64NM<E ?D>7D4<< (6>?NG4O 
D47=>GD>6=56O5 ?D>7D4<<O);   

�5F>4<G5E><5 D5>><5=44F<< ?> ?D>5>F<D>64=<N 4>?>?=<F5?L=OE 
>5M5D476<64NM<E ?D>7D4<< < ?D>7D4<< M?5>FD>==>7> >5GG5=<O 

 

�D>7D4<<4 E?>E>5EF6G5F: 
ø $>D<<D>64=<N <=F5D5E4 > GG55=>-<EE?54>64F5?LE>>= 

45OF5?L=>EF<, >4> =5>5E>4<<>= E>EF46?ONM5= >5GG5=<O < ?5D6>=4G4?L=OE 
G<5=<= < =46O>>6 ?D>6545=<O <EE?54>64=<=; 

ø $54?<74F<< <5E4=<7<4 6>?NG5=<O GG4M<EEO 6 >?OF=>- 

M>E?5D<<5=F4?L=GN D45>FG; 
ø �55E?5G5=<N L<D>>>= 6>7<>6=>EF< 4?O «FD4=E?OF<<» 

?<G=>EF=OE, F6>DG5E><E >4G5EF6; 
ø $>D<<D>64=<N =>6>7> E?>E>54 45=EF6<=, E GE6>5==O< EF4DO< 

<=4<6<4G4?L=O< >?OF><, E =>6O<< FD55>64=<O<< 57> ?D<<5=5=<O; 
ø $>D<<D>64=<N L<D>>>= >4DF<=O <<D4 =4 >E=>65 F5==>EF5= 

=4G><, ?<F5D4FGDO, <E>GEEF64, =5?>ED54EF65==>7> ?>7=4=<O 
45=EF6<F5?L=>EF< < E55O. 

�E>55==>EF< ?>EFD>5=<O >GDE4 < 57> E>45D64=<O 

�GDE E>G5F45F M?5<5=FO FD44<F<>==>7> 74=OF<O E ?D4>F<G5E><<< 
=4D45>F>4<<. � F5G5=<5 6E5E 74=OF<= 45F< 654GF F5FD44L, 6 >>F>D>= 
74?<EO64NF >E=>6=O5 ?>=OF<O < 6O?>?=ONF ?<EL<5==O5 FD5=<D>6>G=O5 
G?D46=5=<O. �D><5 F>7>, >464>5 74=OF<5 6>?NG45F 6 E55O >4> <<=<<G< >4=> 
7444=<5, ?D54?>?474NM55 ?>7DG65=<5 6 GG55=GN ?D>5?5<G, 55 >5EG645=<5 < 
6OD45>F>G D5L5=<O. � >>=F5 >464>7> 74=OF<O >5EG6445FEO, >4> < 6 >4>>= 
D>D<5 <>6=> ?D<<5=<FL ?>?GG5==O5 7=4=<O. &4><< >5D47><, 6 >GDE5 
E>G5F4NFEO M?5<5=FO FD44<F<>==>7> >5GG5=<O < <5F>4O 4>F<6=>7> 
?E<E>?>7<G5E>>7> >5GG5=<O (<7D4, 4<E>GEE<O ?> ?D<=OF<N D5L5=<O < F.4.) 
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�D>7D4<<4 E>EF46?5=4 E GG5F>< E>6D5<5==>7> E>EF>O=<O =4G>< < 
E>45D64=<O 4>?>?=<F5?L=>7> >5D47>64=<O. 

�=4 ?D54EF46?O5F E>5>= >5GG4NMGN E<EF5<G, 6 >>F>D>= D555=>> 
E4<>EF>OF5?L=> ?D<>5D5F45F 7=4=<O, 4 ?5447>7 >EGM5EF6?O5F <>F<6<D>64==>5 
G?D46?5=<5 57> >5GG5=<5< (>D74=<7>6O645F, >>>D4<=<DG5F, >>=EG?LF<DG5F, 
>>=FD>?<DG5F). 

�D>7D4<<4 4>?>?=<F5?L=>7> >5D47>64=<O <>65F 5OFL <E?>?L7>64=4 < 
>4> D4>G?LF4F<6=O=, M?5>F<6=O= >GDE; >4> <5F>4<G5E>>5 ?>E>5<5 ?> 
?>47>F>6>5 45F5= > ?D>5>F=>= < <EE?54>64F5?LE>>= 45OF5?L=>EF<, D476<F<N 
?D>5>F=>7> <OL?5=<O. 
 

1.5. �4D5E4F ?D>7D4<<O. $45>F4 6 >5N54<=5=<< «/ - <EE?54>64F5?L» 
EFD><FEO =4 ?D<=F<?5 <=4<6<4G4?L=>7> ?>4E>44, 6>7D4EF=O5 D4<>< =5 
EFD>7<5: 8-17 ?5F. �>7D4EF=O5, ?E<E>D<7<>?>7<G5E><5 >E>55==>EF< 45F5=, 
547<E=O5 7=4=<O, G<5=<O < =46O>< E>>F65FEF6GNF 44==><G 6<4G 
45OF5?L=>EF<. �=>7<5 <EE?54>64F5?< D4EE<4FD<64NF MF>F 6>7D4EF >4> 
?5D<>4 

«75=<F4 ?N5>7=4F5?L=>EF<, ?> ED46=5=<N E <?44L<<< < EF4DL<<< 
45FL<<. �< E6>=EF65==> ?>6OL5==4O 4>F<6=>EFL, EFD5<?5=<5 > 
45OF5?L=>EF<, ?D><EE>4<F GF>G=5=<5 ED5D <=F5D5E>6, G6?5G5=<=. �5F< 
44==>7> 6>7D4EF4 4>F<6=> =4G<=4NF <=F5D5E>64FLEO E6><< E>5EF65==O< 
6=GFD5==<< <<D>< < >F5=>>= E4<>7> E55O, GG55=4O 45OF5?L=>EFL ?D<>5D5F45F 
E<OE? >4> D45>F4 ?> E4<>D476<F<N < E4<>E>65DL5=EF6>64=<N. 

'G4M<5EO, 74=<<4NM<5EO ?> ?D>7D4<<5 «/ - <EE?54>64F5?L», <<5NF 
D46=O5 6>7<>6=>EF< 4?O ?D>O6?5=<O E6><E F6>DG5E><E E?>E>5=>EF5=, 
?>?GG4NF 6>7<>6=>EFL <=4<6<4G4?L=>7> 6O5>D4 6<4>6 45OF5?L=>EF<, 4 
F4>65 <>7GF ED46=<FL E6>< 4>EF<65=<O E GE?5E4<< 4DG7<E N==4F>6. �4=OF<O 
?> =4EF>OM5= ?D>7D4<<5 >55E?5G<64NF «E<FG4F<N GE?5E4» G>474==>= 
>4F57>D<< 45F5=, GF> E>7445F 5?47>?D<OF=O5 GE?>6<O 4?O E>F<4?<74F<< 
D555=>4. 

'D>65=L D476<F<O 45F5= ?D< ?D<5<5 6 >DG6>> =5 <<55F >E>5>7> 
7=4G5=<O, 7?46=>5, GF>5O >=< ?D>O6?O?< <=F5D5E > 7>>?>7<<, M>>?>7<<, 
E<<<<, 75>7D4D<<. �5>5E>4<<> >FE?56<64FL (?D>6>4<FL <>=<F>D<=7) GD>6=O 
D476<F<O GG4M<EEO, 74G<E?5==OE =4 >5GG5=<5 < GD>65=L D476<F<O GG4M<EEO, 
>E6><6L<E ?D>7D4<<G. 

�DG7 <=F5D5E>6 45F5=, >5GG4NM<EEO ?> ?D>7D4<<5 =5 4>?65= 
<E>?NG4FL <=F5D5E > <7GG5=<N 5EF5EF65==OE =4G>, E5?LE>><G E>7O=EF6G, 
<54<F<=5, M>>?>7<<, >><?LNF5D=O< F5E=>?>7<O<, 6GD=4?<EF<>5, ?E<E>?>7<< 
< F.4. 

�<G=>EF=O5 E4D4>F5D<EF<><. �> F5<?5D4<5=FG, E4D4>F5DG, 
E?>E>5=>EFO< GG4M<5EO <>7GF 5OFL D47=>>5D47=O<<. �>F5=F<4?L=O5 
GG5=<>< 4>?6=O ?D>O6?OFL 55D56=>5 >F=>L5=<5 > >5N5>F4< ?D<D>4O, <<5FL 
=4?D46?5==>EFL (<>F<64F<N) > <7GG5=<N 6<6>= <?< =56<6>= ?D<D>4O, 
M>>?>7<<, ?D<D>4=OE 674<<>E6O75=, >E>55==>EF5= 6<6>F=OE, M>>?>7<G5E><E 
?D>5?5<. 
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�>F5=F<4?L=O5 D>?< 6 ?D>7D4<<5: GG4M<5EO, 5>?55 EF4DL<5 < 
>?OF=O5 <>7GF 6OEFG?4FL 6 >4G5EF65 =4EF46=<>>6 < >>=EG?LF4=F>6 4?O 
<?44L<E, 45?<FLEO E =<<< >?OF><, ?D<=<<4FL GG4EF<5 6 <EE?54>64=<OE, 6 
?>47>F>6>5 > >>=>GDE4< < >>=D5D5=F<O<. 

�54<>>-?E<E>?>7>-?5447>7<G5E><5 E4D4>F5D<EF<><. �>4D>EF>>6O5 
?D>5?5<O =4G<=4NFEO 6 11-12 ?5F. �D><EE>4<F DG=>F<>=4?L=>5 
E>65DL5=EF6>64=<5 <>774 - D476<645FEO 4=4?<F<>>-E<=F5F<G5E>4O DG=>F<O 
>>DO; %4D4>F5D=4O >E>55==>EFL 45F5= MF>7> 6>7D4EF=>7> ?5D<>44 3 OD>> 
6OD465==4O M<>F<>=4?L=>EFL 6>E?D<OF<O. 

� E6O7< E 6>7D4EF=O< >F=>E<F5?L=O< ?D5>5?444=<5< 45OF5?L=>EF< 
?5D6>= E<7=4?L=>= E<EF5<O, 5>?55 D476<F4 =47?O4=>->5D47=4O ?4<OFL, G5< 
E?>65E=>-?>7<G5E>4O. �5F< 5OEFD55 74?><<=4NF < ?D>G=55 E>ED4=ONF 6 
?4<OF< >>=>D5F=O5 E6545=<O, E>5OF<O, ?<F4, ?D54<5FO, D4>FO, G5< 
>?D545?5=<O, >?<E4=<O, >5NOE=5=<O. �GGL5 74?><<=45FEO 6EU OD>>5, 
6O7O64NM55 M<>F<>=4?L=O= >F>?<>. 

�DG??4 D>D<<DG5FEO <7 45F5= < ?>4D>EF>>6, ?D>O6?ONM<E <=F5D5E > 
7>>?>7<< , E 6OE>>>= <>F<64F<5= > ?>7=464F5?L=>= 45OF5?L=>EF<. 

�>?<G5EF6> >5GG4NM<EEO 6 7DG??5 - 4> 15 G5?>65>. �4> ?D46<?>, 
74=OF<O ?D>6>4OFEO 6E5< E>EF46><, ?> 765=LO< <?<, 6 E>>F65FEF6<< E 
>4?5=44D=O< GG55=O< 7D4D<>><. 

�DG??4   <>65F    ED>D<<D>64FLEO    >4>    D47=>6>7D4EF=4O,    F4>    
< >4=>6>7D4EF=4O, 6 746<E<<>EF< >F E?D>E4 =4 ?D>7D4<<G. 

�5F<, ?D>O6?ONM<5 6O44NM<5 E?>E>5=>EF<, <>7GF >5GG4FLEO ?> 
<=4<6<4G4?L=><G >5D47>64F5?L=><G <4DLDGFG, D54?<7GO < ?D>O6?OO E55O 6 
=4GG=>-<EE?54>64F5?LE>>= 45OF5?L=>EF< 5EF5EF65==>=4GG=>= 
=4?D46?5==>EF<. 

�<G=>EF=O5 E4D4>F5D<EF<><. �>F5=F<4?L=O5 GG5=<>< 4>?6=O 
?D>O6?OFL 55D56=>5 >F=>L5=<5 > >5N5>F4< ?D<D>4O, <<5FL =4?D46?5==>EFL 
(<>F<64F<N) > <7GG5=<N 6<6>= <?< =56<6>= ?D<D>4O, M>>?>7<<, ?D<D>4=OE 
674<<>E6O75=, >E>55==>EF5= 6OD4M<64=<O E5?LE>>E>7O=EF65==OE D4EF5=<= 
<?< 6<6>F=OE, M>>?>7<G5E><E ?D>5?5<. 

'D>65=L >5D47>64=<O 45F5= ?D< ?D<5<5 6 >5N54<=5=<5: ?D>=45=4 
?D>7D4<<4 =4G4?L=>= <?< >E=>6=>= L>>?O, 6OE>>4O EF5?5=L 
ED>D<<D>64==>EF< <=F5D5E>6 > 5EF5EF65==>=4GG=>= >5?4EF<, <<5NFEO 
E?>E>5=>EF< > 5<>?>7<<, M>>?>7<<, D<7<><, E<<<<, 75>7D4D<< 4D. 

1.6. 'D>65=L ?D>7D4<<O, >5N5< < ED>>< D54?<74F<<. 
'D>65=L ?D>7D4<<O - 547>6O=. 
%D>>< D54?<74F<< ?D>7D4<<O: 2 7>44 >5GG5=<O (144 G4E4 1 7>4 

>5GG5=<O, 144 G4E4 2 7>4 >5GG5=<O). 
$>D<4 >5GG5=<O: >G=4O, >G=>-74>G=4O, >G=>-4<EF4=F<>==4O, 

>G=>M?5>FD>==4O, <E E>G5F4=<5. �5GG5=<5 <>65F 5OFL >D74=<7>64=> 6 
D56<<5 655<=4D4 (?D< =4?<G<< F5E=<G5E><E 6>7<>6=>EF5=), G5D57 
M?5>FD>==GN ?>GFG; �>=FD>?L E4<>EF>OF5?L=OE 74=OF<= < ?D>65D>4 7444=<=, 
>EGM5EF6?O5FEO ?5447>7>< >4> 6 >G=><, >=-?4== D56<<5, F4> < ?> 
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M?5>FD>==>= ?5D5?<E>5. �=4<6<4G4?L=O5 >>=EG?LF4F<< ?5447>7 <>65F 
?D>6>4<FL =4 5475 D5EGDE4 Skype.  

$56<< D45>FO: 
1 7>4 >5GG5=<O: 144 G4E4 6 7>4, 4 G4E4 6 =545?N; 
2 7>4 >5GG5=<O: 144 G4E4 6 7>4, 4 G4E4 6 =545?N; 

II 74=OF<O   ?>   40-45   <<=GF   (<?44L55   <   ED54=55   765=>). 
1.7. �E>55==>EF< >D74=<74F<< >5D47>64F5?L=>7> ?D>F5EE4. 
�<4O 74=OF<= ?> ?D>7D4<<5 >5GE?>6?5=O 55 E>45D64=<5<, MF> 6 

>E=>6=><: ?D4>F<G5E><5 < ?45>D4F>D=O5 D45>FO, ?5>F<O, E4<>EF>OF5?L=4O 
D45>F4, <4EF5D->?4EE, >DG7?O= EF>?, <>77>6>= LFGD<, 45?>64O <7D4, FD5=<=7, 
6O574=>5 74=OF<5, >>=D5D5=F<O, OD<4D>4 <EE?54>64F5?LE><E D45>F, 
6OEF46>4 < F.4. 

�D>7D4<<4 74FD47<645F EFO>< ?D54<5F>6: 
�5M5= 5<>?>7<<;  
�>>?>7<<; 
$<7<>?>7<<;  
�=4F><<<;  
->>?>7<<;  
%<<<<. 
�4?D46?5=4 =4 ?D54G?D5645=<5 =574F<6=OE ?>E?54EF6<= 6?<O=<O =4 

>>DG64NM5N G5?>65>4 ED54G < 57> 74>D>6L5. 
1.8. &5?L ?D>7D4<<O: E>744=<5 GE?>6<= 4?O D476<F<O F6>DG5E>>7> 

?>F5=F<4?4 45F5=, 6OO6?5=<5 <E E?>E>5=>EF5=, 6>E?<F4=<5 E>6D5<5==>= 
?<G=>EF< G5D57 >5GG5=<5 < ?D<6<F<5 ?N56< > 6<6>F=><G <<DG, 
D>D<<D>64=<5 G L>>?L=<>>6 <EE?54>64F5?LE><E =46O>>6 6 >5?4EF< 
5EF5EF65==OE =4G>. 

�5D47>64F5?L=O5: 
1. %?>E>5EF6>64FL G7?G5?5=<N < D4EL<D5=<N <<5NM<EEO G 

L>>?L=<>>6 7=4=<= > ?D<D>45 D>4=>7> >D4O; 
2. $4E>DOFL 7=4G5=<5 7>>?>7<< 6 >5M5< >5D47>64=<< 

L>>?L=<>4, 
3. %D>D<<D>64FL ?D54EF46?5=<O > F5?>EF=>EF< < 

4<4?5>F<>5 ?D<D>4=OE < ?D<D>4=>-4=FD>?>75==OE >><??5>E>6, 4 
F4>65 ?GFOE <E D4F<>=4?L=>7> <E?>?L7>64=<O < >ED4=O; 

4. %>744FL GE?>6<O 4?O ?D<>5D5F5=<O E?5F<4?L=OE 7=4=<= 
< G<5=<= 6 >5?4EF< =4GG=>= 45OF5?L=>EF<: >6?445=<O =46O>4<< 
?>?56OE < ?D><76>4EF65==OE <EE?54>64=<=, >4<5D4?L=>= 
>5D45>F>< < 4=4?<74 <4F5D<4?4. 
�5F4?D54<5F=O5: 

1. $476<64FL >4G5EF64, =5>5E>4<<O5 4?O ?D>4G>F<6=>= 
<EE?54>64F5?LE>>= 45OF5?L=>EF< 5EF5EF6><E?OF4F5?O: 
=45?N44F5?L=>EFL, 4=4?<7 < E<=F57 E<FG4F<=, >><<G=<>4F<6=O5 
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>4G5EF64, >D<F<G5E>>5 >F=>L5=<5 > ?>?GG5==O< D57G?LF4F4<. 
2. $>D<<D>64=<5 G >5GG4NM<EEO ?E<E>?>7<G5E>>= 

7>F>6=>EF< > 6>E?D<OF<N ?D>5?5<=>= E<FG4F<< >4> 7444G< 
45OF5?L=>EF<; 

3. $476<64FL <>F<64F<N ?<G=>EF< D555=>4 > 
<EE?54>64F5?LE>>= 45OF5?L=>EF< ?> 7>>?>7<<, M>>?>7<<, E<<<<, 
75>7D4D<<. 
�<G=>EF=O5: 

1. %?>E>5EF6>64FL >E>7=4=<N >5GG4NM<<<EO G5?>65>4,
 >4> G4EF< ?D<D>4O; 

1. �>E?<F4FL 55D56=>5 >F=>L5=<5 >> 6E5<G 6<6><G, ?N5>6L 
> ?D<D>45, >F=>L5=<5 > ?D<D>45 >4> > >5M5G5?>65G5E>>= F5==>EF<; 

2. $>D<<D>64FL >F65FEF65==>5 >F=>L5=<O > ?D<D>45; 
3. �>E?<F4FL 6 E>45 =4GG=OE <EE?54>64=<=

 >><<G=<>4F<6=O5 =46O><, G<5=<O 445>64F=> 65EF< E55O 6 
EFD5EE>6>= E<FG4F<<. 

 

 
1.9. 'G55=O= ??4= 

1 7>4 >5GG5=<O 

�?>> �?4=<D>64=<5 �E57> 

G4E>6 

&5>D. �D4>F. $>D<O 

>>=FD>?O 

1. �6>4=O5 74=OF<O 14 2 12 55E544 

2. �>4F4DEF6> 

�4=>>?5F>G=O5 

12 2 10 �D5==-D<=7 

3. �>4F4DEF6> 

�=>7>>?5F>G=O5 

12 2 10 �D. D45>F4 

4. &<? �<L5G=>?>?>EF=O5 12 6 6 �D. D45>F4 

5. &<?O �?>E><5, �DG7?O5, 
�>?LG4FO5 G5D6< 

24 10 14 �D. $45>F4 

6. &<? �>??NE>< 20 6 14 �D. D45>F4 

7. &<? '?5=<EF>=>7<5 42 12 30 �45 D45>F4 

 �F>7>6>5 74=OF<5 8 4 4 &5EF<D>64=<5 

�E57>: 144 44 100  
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'G55=O= ??4= 

2 7>4 >5GG5=<O 
 
 

�?>> �?4=<D>64=<5 �E57> 

G4E>6 

&5>D. �D4>F. $>D<O 

>>=FD>?O 

1. �6>4=>5 74=OF<5. 8 4 4 �5E544 

2. &<? %>D4>6O5. �>4F<?O 

�5EG5D5?=O5 < 

�5>?>G=<><. �>4F<? 

�>76>=>G=O5. 

8 4 4 �<>F>D<=4 

3. �?4EE $O5O 16 4 12 �D. D45>F4 

4. �?4EE �5<=>6>4=O5 12 4 8 �<>F>D<=4 

5. �?4EE �D5E<O>4NM<5EO 16 4 12 �D. D45>F4 

6. �?4EE �F<FO 22 10 12 �<>F>D<=4 

7. �?4EE �?5>>?<F4NM<5 42 20 22 �D. D45>F4 

8. �D<D>44 D>4=>7> >D4O 10 4 6 �<>F>D<=4 

10. �F>7>6O5 74=OF<O 10 - 10 �4M<F4 

?D>5>F>6 

�E57>: 144 54 90  

 
 

1.10. %���$����� ''������ ����� 
 

1 7>4 >5GG5=<O 

�6>4=>5 74=OF<5 3 14 G4E>6. 
/ - <EE?54>64F5?L. �=EFDG>F46 ?> F5E=<>5 557>?4E=>EF<. �=4>><EF6> 

E F4DEF6>< 6<6>F=O5. ->E>GDE<O 6 6<6>= G7>?>>. �5EF> >5<F4=<O. �>=OF<5 
5<>75>F5=>7. �D4>F<G5E>4O D45>F4 «�<D 6 >>F>< < O 6<6G» �>47>F>6>4 < 
?D>6545=<5 4>F<< «%45?45< 6<5EF5!» 

�>4F4DEF6> �4=>>?5F>G=O5 - 12 G4E>6. 
�=4>><EF6> E F<?>< �D>EF5=L<5. �45>D4F>D=4O D45>F4 «�47?O=5< 6 

<<>D>E>>?». 
�<DFG4?L=4O M>E>GDE<O «�45 < 74G5< 6<6GF �D>EF5=L<5». 

�D4>F<G5E>4O D45>F4 «�><4L=<5 <=DG7>D<<». �D5==-D<=7 «� F4DEF65 
�56<4<<>>». (�6>4=4O ?D>65D>4 7=4=<=). 

 

�>4F4DEF6> �=>7>>?5F>G=O5 3 12 G4E>6. 
�=4>><EF6> E <=>7>>?5F>G=O<< 6<6>F=O<<. �D54EF46<F5?< 

?>4F4DEF64 =4L57> >D4O 

�D4>F<G5E>4O D45>F4 «�45?N45=<5 74 6<6>F=O<< 6<6>7> G7>?>4». 
�7GG5=<5 6=5L=57> EFD>5=<O < >E>55==>EF5= ?5D546<65=<O, =4 ?D<<5D5 
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>5<F4F5?5= 6<6>7> G7>?>4. 
->>?>7<G5E>4O <7D4 «�<6>F=O5 ??4=5FO». 
�D4>F<G5E>4O D45>F4. &6>DG5E>4O <4EF5DE>4O «�F <54G7O 4> E?>=4». 
 

&<? �<L5G=>?>?>EF=O5 3 12 G4E>6. 
�=4>><EF6> E ?D54EF46<F5?O<< F<?4 �<L5G=>?>?>EF=O5. �D4>F<G5E>4O 

D45>F4 «�5 F>?L>> 6>44 ». 
�<DFG4?L=4O M>E>GDE<O «� <<D5 DGE4?>>». �D4>F<G5E>4O D45>F4. 

&6>DG5E>4O <4EF5DE>4O «�4 4=5 <>DE>><». 
 
&<?O �?>E><5, �DG7?O5, �>?LG4FO5 G5D6< 3 24 G4E>6. �=4>><EF6> E 

F<?4<< G5D65=, >5<F4NM<<< 6 =4L5< >D45. �45>D4F>D=4O D45>F4 «�45 =4G4?>, 
745 >>=5F?» 2 

%<?4 <OLF < =<>4>>7> <>L5==<G5EF64. $47=>>5D47<5 F<?>6 =4 
�G54=<. �G?LF<<54<==>5 74=OF<5-?GF5L5EF6<5 ?> G5?>65G5E>><G
 >D74=<7<G 

«�5?D>L5==O5 7>EF<». �D46<?4 7<7<5=O. $>?L G5D65= 6 ?D<D>45. 
�D>E<>FD 

6<45>D<?L<4 «�GF5L5EF6<5 G5D6OG>4». 
�D4>F<G5E>4O D45>F4. �77>F>6?5=<5 <4>5F>6 ?<F><=<>>6 4?O

 75<?O=OE G5D65=. �D4>F<G5E>4O D45>F4 «�><4L=<5 
?<F><FO - G5D6<». 

�D4>F<G5E>4O D45>F4 «�<>7G<GE». �4>?44>4 >?OF4 6
 F5??<F5 ?> 6OD4M<64=<N D4EF5=<= E <E?>?L7>64=<5< 
5<>7G<GE4. 

&<? �>??NE>< 3 20 G4E>6. 
�=4>><EF6> E F<?>< �>??NE>< < 57> ?D54EF46<F5?O<<, >5<F4NM<<< 6 

=4L5< >D45. �D4>F<G5E>4O D45>F4 «�F> 6 D4>GL>5 6<65F?» 

�<DFG4?L=4O M>E>GDE<O «�54?5==>, => 65D=>». 
�D4>F<G5E>4O D45>F4 «�45?N45=<5 74 <>??NE>4<< 6<6>7> G7>?>4». 

�D4>F<G5E>4O D45>F4 «�E?< 4><4 6<6GF �E4F<=O». �D46<?4 E>45D64=<O < 
GE>4 74 4><4L=<<< <>??NE>4<<. 

->E>GDE<O =4 D5G>G 'DG?. �>F<O «'<EFO5 55D574». 
�D4>F<G5E>4O D45>F4 �F5=>4 M>>?>7<G5E>>7> E>EF>O=<O �7>6E>>7> 

?>55D56LO. &6>DG5E>4O <4EF5DE>4O «$4>GL5G=4O D4=F47<O». 
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&<? '?5=<EF>=>7<5 3 42 G4E>6. 
«�F> F4>4O <>>D<F4, >=4 65 4D5G7<>, >=4 65 ?4D46>7<>?» �=4>><EF6> E 

>?4EE>< $4>>>5D47=O5, ?D54EF46<F5?O<< >?4EE4, >5<F4NM<<< 6 =4L5< 
>D45. 2 

�D4>F<G5E>4O D45>F4 «�>G5<G D4> ?OF<FEO =4744?» 

�7GG5=<5 6=5L=57> EFD>5=<O < >E>55==>EF5= ?5D546<65=<O, =4 
?D<<5D5 D<>E<D>64==OE ?D5?4D4F>6 < >5<F4F5?5= 6<6>7> G7>?>4. 2 

�=4>><EF6> E >?4EE>< �4G>>>5D47=O5, ?D54EF46<F5?O<< >?4EE4, 
>5<F4NM<<< 6 >D45. �?4E=O5 E5?<F5DO. 

�45>D4F>D=4O D45>F4 «�>E5<L =>7, 4 E>>?L>> 7?47?» 

->E>GDE<O 6 ?5E. �45?N45=<5 74 5EF5EF65==O<< <5EF4<< >5<F4=<O 
?4G>>6. �G?LF<<54<==>5 74=OF<5 «�?4EE �4E5>><O5». $>?L 6 ?D<D>45 < 

6<7=< G5?>65>4. �<>F>D<=4 «�>>>D<F5?< ??4=5FO». 2 

�D4>F<G5E>4O D45>F4 «,5EF<=>7<5». �7GG5=<5 6=5L=57> EFD>5=<O < 
>E>55==>EF5= ?5D546<65=<O, =4 ?D<<5D5 M=F><>?>7<G5E>>= >>??5>F<< < 
>5<F4F5?5= 6<6>7> G7>?>4. 

&<>?O D476<F<O =4E5>><OE «�F O=F4 4> <<47>». �45>D4F>D=4O 
D45>F4 

«�G>>?><, => =5 4?O 456>G5>». 
�>6GL>< 4?O =4E5>><OE. �D4>F<G5E>4O D45>F4 «�77>F>6?5=<5 

E65F>6OE, 76G>>6OE, E<<<G5E><E < <5E4=<G5E><E ?>6GL5>». ->E>GDE<O =4 
EF4=F<N 74M<FO D4EF5=<=. 

 
�F>7>6>5 74=OF<5 - 8 G4E4. 

�F>7>6>5 F5EF<D>64=<5. �>46545=<5 <F>7>6 D45>FO >5N54<=5=<O. 
->E>GDE<O 6 ?D<D>4G. �>F<O «�>?LL5 ><E?>D>44». 
 
 

2 7>4 >5GG5=<O 

�6>4=>5 74=OF<5 - 8 G4E4. 
�=EFDG>F46 ?> F5E=<>5 557>?4E=>EF<. �=4>><EF6> E ??4=>6 D45>FO 

>5N54<=5=<O =4 6F>D>= 7>4 >5GG5=<O. �=EFDG>F46 ?> F5E=<>5 557>?4E=>EF<. 
'G55=>-<EE?54>64F5?LE>4O 45OF5?L=>EFL. �O5>D F5< ?D>5>F>6. 

 
&<? %>D4>6O5. �>4F<?O �5EG5D5?=O5 < �5>?>G=<><. �>4F<? 

�>76>=>G=O5. 8 G4E4. 
%>6D5<5==4O E<EF5<4F<>4 F<?4 %>D4>6O5. �D4>F<G5E>4O D45>F4 «�E5 

?< 45?> 6 G5D5?5?» 

�<DFG4?L=4O M>E>GDE<O «�>DE><5 74744><». �7D4 «&G=<>4 < 
�4=F5F -F>65 6<6>F=O5?» 

 
�?4EE $O5O 3 16 G4E>6. 
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�=4>><EF6> E F<?>< %>D4>6O5 < >?4EE>< $O5O, ?D54EF46<F5?< >?4EE4, 
>5<F4NM<5 6 =4L5< >D45. 2 

�D4>F<G5E>4O D45>F4 «�F> 6 4>64D<G<5 6<65F?». �7GG5=<5 6=5L=57> 
EFD>5=<O < >E>55==>EF5= ?5D546<65=<O, =4 ?D<<5D5 6?46=OE ?D5?4D4F>6 < 
>5<F4F5?5= 6<6>7> G7>?>4. ->>?>7<G5E><5 7DG??O DO5. 

�D4>F<G5E>4O D45>F4 «�>D5, ?DG4, D5>4.» &6>DG5E>4O <4EF5DE>4O 
«�>?>F4O DO5>4». 

�<>F>D<=4 «$O5O �D4E=>44DE>>7> >D4O». �45>D4F>D=4O D45>F4 
«%6>EF < G5LGO». 

 
�?4EE �5<=>6>4=O5 3 12 G4E>6. 
�=4>><EF6> E >?4EE>< �5<=>6>4=O5, ?D54EF46<F5?O<< >?4EE4, 

>5<F4NM<<< 6 =4L5< >D45. 
�45>D4F>D=4O D45>F4 «�4><5 >=< �<D<5<<?». 
�D4>F<G5E>4O D45>F4 «�5 F>?L>> F4DL <>DE>>=». �45?N45=<5 74 

4<D<5<O<< 6<6>7> G7>?>4, ?D46<?4 <E E>45D64=<O.
 $575=<D4F<O. �<>F>D<=4 

«�5<=>6>4=O5 �D4E=>= >=<7<». 
 
�?4EE �D5E<O>4NM<5EO 3 16 G4E>6. 
�=4>><EF6> E >?4EE>< �D5E<O>4NM<EEO, ?D54EF46<F5?O<< >?4EE4, 

>5<F4NM<<< 6 =4L5< >D45. �<DFG4?L=4O M>E>GDE<O «� MDG 4<=>746D>6» 2 
�45>D4F>D=4O D45>F4 «�>F><>< 4<=>746D>6». �7GG5=<5 6=5L=57> EFD>5=<O < 
>E>55==>EF5= ?5D546<65=<O, =4 ?D<<5D5 >5<F4F5?5= 6<6>7> G7>?>4 < 
6?46=OE ?D5?4D4F>6. 

�D4>F<G5E>4O D45>F4 «�5<F4F5?< F5DD4D<G<>6». �D46<?4 E>45D64=<O 
< >D>D<?5=<O F5DD4D<G<>6. 2 

�D4>F<G5E>4O D45>F4 «�45?N45=<O 74 D5?F<?<O<< 6<6>7> G7>?>4. 
�>D<?5=<5 < GE>4». 
 

�?4EE �F<FO 3 22 G4E>6. 
�=4>><EF6> E <=>7>>5D47<5< < >E>55==>EFO<< >?4EE4 �F<FO. 

�45>D4F>D=4O D45>F4 «�7GG5=<5 6=5L=57> 6<44 ?F<F». 
�<>F>D<=4 «�5D=4F4O EF>?>64O». 
�D4>F<G5E>4O D45>F4 «�D46<?4 E>45D64=<O ?F<F 6 =56>?5». 
�D4>F<G5E>4O D45>F4 «�45?N45=<5 74 ?D>F5EE4<<

 6<7=545OF5?L=>EF< 45>>D4F<6=OE ?F<F». 
->E>GDE<O «�=4>><EF6> E >D=<F>D4G=>= =4L57> 7>D>44». �>F<O 

«�F<FO �G54=<» . 

$>?L ?F<F 6 ?D<D>45. �<>F>D<=4 «�F<FO - D5>>D4E<5=O». 
 
�?4EE �?5>>?<F4NM<5 3 42 G4E>6. 
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�=4>><EF6> E >?4EE>< �?5>>?<F4NM<5. �4=OF<5 3 >>=D5D5=F<O 
«�FDO4O �?5>>?<F4NM<E». 2 

�<DFG4?L=4O M>E>GDE<O «�65D< =4L5= ??4=5FO». 
�45>D4F>D=4O D45>F4 «�=5L=55 EFD>5=<5 <?5>>?<F4NM<E:

 �>E<4FO5, G5F65D>=>7<5». 
�D4>F<G5E>4O D45>F4 «%>45D64=<5 <?5>>?<F4NM<E 6 =56>?5.

 �45?N45=<5 74 <?5>>?<F4NM<<< 6<6>7> G7>?>4». 
�<>F>D<=4 «$54><5 < >ED4=O5<O5. �> EFD4=<F4< �D4E=>= >=<7<». 
->E>GDE<O 6 <G75= �>EF>G=>7> �D<47>6LO «�?5>>?<F4NM<5 =4L57> 

>D4O». �4G>4 3 MF>?>7<O. �4> ?>=OFL 6<6>F=>5? �45>D4F>D=4O D45>F4 
«�DOE<=O= ?45<D<=F». 

�D46<?4 D>F>>E>FO. 
�D4>F<G5E>4O D45>F4 «%?>E>5O GG5F4 <?5>>?<F4NM<E 6 ?D<D>45». 

->E>GDE<O 6 �.%, «�7G<DG4» (>>==>-E?>DF<6=>5 =4?D46?5=<5). 
'5?>65> 3 ?D54EF46<F5?L >?4EE4 <?5>>?<F4NM<5. �D4>F<G5E>4O 

D45>F4 «/ 4G<4N, 7=4G<F O EGM5EF6GN». 
�>47>F>6>4 < ?D>6545=<5 4>F<= «�E5 6 =4L<E DG>4E» < «%<74D5FG 

=4 >>=D5FG!». 
 

�D<D>44 D>4=>7> >D4O 3 10 G4E>6. 
$4EF<F5?L=O= < 6<6>F=O= <<D �G54=<. �<>F>D<=4 «�=4= 

E6>= >D4=».�4=OF<5- >>=D5D5=F<O «->>?>7<O >D4O». 
�F>7>6O5 74=OF<O 3 10 G4E4. 
�4M<F4 GG55=OE ?D>5>F>6. �>46545=<5 <F>7>6, 6DGG5=<5 

E5DF<D<>4F>6. ->E>GDE<O 6 ?D<D>4G. �65EF «�5E=O5 $>5<=7>=O» 2 
 

1.11. �����$'��/� $��'�,&�&/ 

�D54<5F=O5 D57G?LF4FO 

�D>7D4<<4 ?D54?>?4745F, GF> GG4M<=EO 5G45F 7=4FL: 
-?>=OF<O 7>>?>7<O, ED54O >5<F4=<O 6<6>F=OE, 
- M>>?>7<O < 55 6?<O=<5 =4 6<6>F=OE, 
->5M<5 E4D4>F5D<EF<>< >E=>6=OE >?4EE>6 6<6>F=OE, 
-6<6>F=O= <<D E6>5= <5EF=>EF<, 
-6?<O=<5 45OF5?L=>EF< G5?>65>4 =4 >>DG64NMGN ED54G, 
->5M<5 ?D<=F<?O ?>EFD>5=<O =4GG=>= D45>FO; 
-E>45D64=<5 < =47=4G5=<5 >464>= E>EF46=>= G4EF< =4GG=>= D45>FO; - 

D47?<G=O5 ?>4E>4O > >5D45>F>5 D57G?LF4F>6 <EE?54>64=<=; -E?>E>5O 
?D54EF46?5=<O D57G?LF4F>6 <EE?54>64=<=. 

�D>7D4<<4 ?D54?>?4745F, GF> GG4M<=EO 5G45F G<5FL: 
-D475<D4FLEO 6 <=>7>>5D47<< 6<6>F=>7> <<D4 E6>5= <5EF=>EF<, 
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-65EF< ?D>EF5=L<5 =45?N45=<O 74 6<6>F=O<<, 
->D>D<?OFL 7>>?>7<G5E><5 >>??5>F<<, D>D<G?<D>64FL F5<G < 

>?D545?OFL F5?L =4GG=>= D45>FO; 
-65EF< 5<5?<>7D4D<G5E><= ?><E>, 
-6O5<D4FL ?<F5D4FGDG ?> F5<5 <EE?54>64=<O < 6O?>?=<FL 55 >57>D; 
->E6><FL =5E?>6=O5 <5F>4<>< < 6O?>?=<FL ?D4>F<G5E>GN G4EFL 

GG55=>-<EE?54>64F5?LE>>= D45>FO; 
-7D4<>F=> >5D45>F4FL < ?D54EF46<FL D57G?LF4FO D45>FO; 
-E45?4FL 6O6>4O; 
->D>D<?OFL =4GG=GN D45>FG < G554<F5?L=> 4>?>6<FL 55 

D57G?LF4FO. 
�D>7D4<<4 ?D54?>?4745F, GF> GG4M<=EO 5G45F >5?444FL: 
-GEF>=G<6O< <=F5D5E>< > <EE?54>64F5?LE>>= 45OF5?L=>EF<, G<5=<O<< 

< =46O>4<< 4?O 57> D54?<74F<<; 
-6OE>><< GD>6=5< ?>7=464F5?L=>= 4>F<6=>EF< < EFD5<?5=<5< > 

F6>DG5E>><G E4<>6OD465=<N; 6OE>><< GD>6=5< >5M5= < M>>?>7<G5E>>= 
>G?LFGDO. 

%?5>FD ED>D<<D>64==OE >5M5GG55=OE G<5=<= GG4M<EEO >4> 
646=5=L57> >><?>=5=F4 >><?5F5=F=>EF< ?<G=>EF< 6 5EF5EF65==>=4GG=>= 
>5?4EF< 5G45F 6>?NG4FL <EE?54>64F5?LE><5, >><?LNF5D=O5 < 
>><<G=<>4F<6=O5 G<5=<O. �EE?54>64F5?LE><5 G<5=<O: 

ø G<5=<5 D>D<G?<D>64FL <EE?54>64F5?LE>GN ?D>5?5<G, 6O46<74FL 
7<?>F57G, ??4=<D>64FL < D54?<7>6O64FL ?D>65D>G 7<?>F57O, 4=4?<7<D>64FL 
D57G?LF4FO; 

ø G<5=<5 >5D4M4FLEO E ?D>EF5=L<<< ?D<5>D4<<; 
ø =46O>< E<EF5<4F<74F<< 44==OE; 
ø =46O>< D45>FO E 4>?>?=<F5?L=>= ?<F5D4FGD>=. 
ø �><<G=<>4F<6=O5 G<5=<O: 
ø 7=4>><EF6> E >E=>6=O<< D>?O<< GG4EF=<>>6 7DG??O 

E>FDG4=<G5EF64; 
ø >E6>5=<5 D>D< 674<<>45=EF6<O ?N45= 6 D45>F5, E?>E>5>6 

E>FDG4=<G5EF64 < >>=>GD5=F<<; 
ø D>D<<D>64=<5 G<5=<= E?GL4FL, ?>>MDOFL, 6O?>?=OFL D>?< 

>>>D4<=4F>D4 < GG4EF=<>4 7DG??O E>FDG4=<G5EF64. 
ø 6?445FL =46O>4<<:3 E>6D5<5==O<< <5F>44<< 4<47=>EF<>< 

6D54<F5?5= < 6>75G4<F5?5= 5>?57=5= D4EF5=<=, ?D<U<4<< D<F>E4=<F4D=>7> 
<>=<F>D<=74 < 74M<FO ?>E56>6 < =4E4645=<= 

'G4M<5EO, 7465DL<6L<5 >E6>5=<5 4>?>?=<F5?L=>= >5D47>64F5?L=>= 
?D>7D4<<O 4>?6=O >6?445FL E?54GNM<<< >><?5F5=F<O<<: 

1. �>7=<F<6=4O >><?5F5=F<O (��)3 7>F>6=>EFL >5GG4NM57>EO > 
E4<>EF>OF5?L=>= ?>7=464F5?L=>= 45OF5?L=>EF<, G<5=<5 <E?>?L7>64FL 
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<<5NM<5EO 7=4=<O, >D74=<7>6O64FL < >>DD5>F<D>64FL E6>N 
45OF5?L=>EFL, =45?N44FL, ED46=<64FL < ?D>6>4<FL M>E?5D<<5=F. 

2. �=D>D<4F<>==4O >><?5F5=F<O (��) 3 7>F>6=>EFL >5GG4NM57>EO 
D45>F4FL E <=D>D<4F<5= D47?<G=OE <EF>G=<>>6, >F5<D4FL < 
E<EF5<4F<7<D>64FL 5U, >F5=<64FL 5U 7=4G<<>EFL 4?O 444?F4F<< 6 >5M5EF65 < 
>EGM5EF6?5=<5 E>F<4?L=>-?>?57=>= 45OF5?L=>EF< 6 =U<. 

3. �><<G=<>4F<6=4O >><?5F5=F<O (���) 3 G<5=<5 65EF< 4<4?>7, 
E45D6<64FL =574F<6=O5 M<>F<<, ?D54EF46?OFL < >>DD5>F=> >FEF4<64FL E6>N 
F>G>G 7D5=<O, ?D>O6?OFL 4>F<6=>EFL 6 >5EG645=<5 6>?D>E>6. 

4. %>F<4?L=4O >><?5F5=F<O (%�) 3 E?>E>5=>EFL <E?>?L7>64FL 
?>F5=F<4? E>F<4?L=>= ED54O 4?O E>5EF65==>7> D476<F<O, ?D>O6?OFL 
4>F<6=>EFL > E>F<4?L=>= 444?F4F<< 6 >5M5EF65 < E4<>EF>OF5?L=><G 
E4<>>?D545?5=<N. 

5. �D54F<6=4O >><?5F5=F<O (�D�) 3 E?>E>5=>EFL <OE?<FL 
=5EF4=44DF=>, G<5=<5 D54?<7>6O64FL E>5EF65==O5 F6>DG5E><5 <45<, 
>E64<64FL E4<>EF>OF5?L=O5 D>D<O D45>FO. 

6. &5==>EF=>-E<OE?>64O >><?5F5=F<O (&%�) 3 7>F>6=>EFL 6<45FL < 
?>=<<4FL >>DG64NM<= <<D, >D<5=F<D>64FLEO 6 =U<, E>7=464FL E6>N D>?L < 
?D54=47=4G5=<5, G<5FL 6O5<D4FL F5?56O5 < E<OE?>6O5 GEF4=>6>< 4?O E6><E 
45=EF6<= < ?>EFG?>>6. 

7. �><?5F5=F<O ?<G=>EF=>7> E4<>E>65DL5=EF6>64=<O (��%) 3 
7>F>6=>EFL >EGM5EF6?OFL D<7<G5E>>5, 4GE>6=>5 < <=F5??5>FG4?L=>5 
E4<>D476<F<5. 

�<G=>EF=O5 D57G?LF4FO 

ø �D>7D4<<4 ?D54?>?4745F 6>E?<F4=<5 G GG4M<EEO: 
ø 55D56=>7> >F=>L5=<O >> 6E5<G 6<6><G, 
ø ?N56< > ?D<D>45, 
ø >F=>L5=<O > ?D<D>45 >4> > >5M5G5?>65G5E>>= F5==>EF<; 
ø 4>EF4F>G=>7> GD>6=O >><<G=<>4F<6=>= >G?LFGDO, 
ø 65?4=<5 < 7>F>6=>EFL E>FDG4=<G4FL E >>??574<< 6 E>EF465 

F6>DG5E>>= 7DG??O, 45?<FLEO D57G?LF4F4<< E6>5= D45>FO < D45>FO 
GG4EF=<>>6 <EE?54>64=<=. 

�5F4?D54<5F=O5 D57G?LF4FO: 
ø �D>7D4<<4 ?D54?>?4745F D476<F<5 G GG4M<EEO: 
ø <=F5??5>F4, 
ø ?D>5>F=>7> <OL?5=<O, 
ø F6>DG5E>>7> <OL?5=<O, 
ø E4<>EF>OF5?L=>7> <OL?5=<O, 
ø ?D<>?44=>= EF>D>=O <OL?5=<O, 
ø =46O>>6 E4<>>>=FD>?O, 
ø =46O>>6 E4<>4=4?<74, E4<>D54?<74F<<, 
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ø ?>7=464F5?L=>7> <=F5D5E4 > ?D>5>F=>= <EE?54>64F5?LE>>= 
45OF5?L=>EF<. 

�D>7D4<<4 ?>76>?O5F D54?<7>64FL E?54GNM<5 ?D<=F<?O 

>5GG5=<O: 
ø 4<44>F<G5E><5 (>55E?5G5=<5 E4<>EF>OF5?L=>EF< < 4>F<6=>EF< 

GG4M<EEO; 4>EF<65=<5 ?D>G=>EF< 7=4=<= < G<5=<= 6 ?D>5>F=>= 
45OF5?L=>EF<; D54?<74F<O <=F57D4F<6=>7> ?>?<F5E=<G5E>>7> >5GG5=<O, 
?D>D5EE<>=4?L=>= >D<5=F4F<<); 

ø 6>E?<F4F5?L=O5 (FDG4>?N5<5, F5?5GEFD5<?5==>EFL, D476<F<5 
GG6EF64 >F65FEF65==>EF<, G?>DEF64 < =4EF>=G<6>EF< 6 4>EF<65=<< 

?>EF46?5==>= F5?<); 
ø <56?D54<5F=O5, ?>>47O64NM<5 54<=EF6> ?D<D>4O, GF> 

?>76>?<F D4EL<D<FL <<D>6>77D5=<5 GG4M<EEO. 
�5F>4O D45>FO: 65D54?L=O=, E?>65E=> 3 =47?O4=O=, 

454G>F<6=O=,  ?><E>>6O=, <EE?54>64F5?LE><=, E4<>EF>OF5?L=4O D45>F4. 
$>D<O D45>FO ?> ?D>7D4<<5: GG55=O5 74=OF<O (?D>EFO5 < 

>><??5>E=O5), M>E>GDE<<, =45?N45=<O, >>=>GDEO 

$>D<O ?D>6545=<O 74=OF<=: 55E54O, E5<<=4DO, M>E>GDE<<, 
?45>D4F>D=O5 D45>FO, E>F<4?L=O5 4>F<<, M>>?>7<G5E><5 >?OFO. 

�E?>?L7>64=<5 E>6D5<5==OE >5D47>64F5?L=OE F5E=>?>7<=: 
ø <=D>D<4F<>==>->><<G=<>4F<>==OE; 
ø <=4<6<4G4?<74F<< >5GG5=<O; D476<64NM57> >5GG5=<O; 
ø ?D>5>F=4O 45OF5?L=>EFL; 
ø <EE?54>64F5?LE><= <5F>4 >5GG5=<O; 
ø E>F<4?L=>7> ?D>5>F<D>64=<O. 

 



18  

2. �><??5>E E>F<4?L=>-?5447>7<G5E><E GE?>6<=, 
6>?NG4NM<= D>D<O 4FF5EF4F<< 

2.1.�������$�/� ''���/� �$�$�� 

1-= 7>4 74=OF<= 
 

?/ 
? 

 
�4F4 

 
&5<4 74=OF<O 

�>?- 
6> 

G4E> 
6 

�D5<O 
?D>6545 

=<O 
74=OF<O 

 

$>D<4 
74=OF<O 

�5EF> 
?D>6545= 

<O 

$>D<4 
>>=FD 
>?O 

1. �6>4=>5 74=OF<5 (14G.) 
  / -   �4=OF<5 3 �45<=5F 

716 

�4G4?L= 
4O L>>?4 
���'% 
�, 78 

�5E544 
 <EE?54>64F5?  <7D4.   

 L.     

1 �=EFDG>F46 2    

 ?> F5E=<>5     

 557>?4E=>EF     

 <.     

 

2 
 �=4>><EF6> E 

F4DEF6>< 

 

2 
 ->E>GDE<O. �45<=5F 

716 
�7D4 

 6<6>F=O5   �4G4?L=  

->E>GDE<O 6  4O L>>?4      
3 6<6>= 

G7>?>>. 
2  ���'% 

�, 78 
 

  �5EF>   �D4>F<G5E>4O  
�45<=5F 

716 
�4G4?L= 
4O L>>?4 
���'% 
�, 78 

�D4>F 

4 
>5<F4=<O. 
�>=OF<5 

2 
D45>F4 <G5E>4 

O 
 5<>75>F5=>7.   D45>F4 

�D4>F<G5E>4       
 O D45>F4    

5 «�<D  6 
>>F>< < O 

2   

 6<6G»    

 

6 
 �>47>F>6>4 

< ?D>6545=<5 

 

2 
 �D<D>4>>ED4 

==4O 
�45<=5F 
716 

�5E544 

 4>F<<  45OF5?L=>EFL. �4G4?L=  

«%45?45<  4O L>>?4      
7 6<5EF5!» 2  ���'% 

�, 78 
 

�>4F4DEF6> �4=>>?5F>G=O5. 12 

8  �=4>><EF6> E 
F<?>< 
�D>EF5=L<5. 
�45>D4F>D=4 
O D45>F4 
«�47?O=5< 6 
<<>D>E>>?». 

2   �45<=5F 
716 
�4G4?L= 
4O L>>?4 
���'% 
�, 78 

 
�45>D 
4F>D=4 
O 
D45>F4 
. 

9  2  �5>F<O. 
    �G?LF<<54<= 

10 2 
=>5 74=OF<5. 

 
11 

 

 

 

 �<DFG4?L=4O 
M>E>GDE<O 
«�45 < 74G5< 
6<6GF 
 

 
2 

 �<DFG4?L=4O 
M>E>GDE<O. 
 
 
 

�45<=5F 
716 
�4G4?L= 
4O L>>?4 
 

�D4>F 
<G5E>4 
O 
D45>F4 
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  �D>EF5=L<5 
». 
�D4>F<G5E>4 

   ���'% 
�, 78 

 

12 O D45>F4 
«�><4L=<5 
<=DG7>D<<». 

2 
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 �D5==-D<=7 

«� F4DEF65 
�56<4<<>>». 
(�6>4=4O 
?D>65D>4 
7=4=<=) 

 

 
2 

 �D5==-D<=7. �45<=5F 
716 
�4G4?L= 
4O 
L>>?4 
���'% 
�, 78 

�<F>
D <=4 

�>4F4DEF6> �=>7>>?5F>G=O5.12 

 

14 
 �=4>><EF6> E 

<=>7>>?5F>G 
=O<< 
6<6>F=O<<. 

 

2 
 �G?LF<<54<= 

=>5 74=OF<5. 
�45<=5F 
716 
�4G4?L= 
4O L>>?4 
���'
% �, 
78 

�5E544 

15  2  

16 
 �D54EF46<F5 

?< 
?>4F4DEF64 
=4L57> >D4O 

2 
 �D4>F<G5E>4O 

D45>F4 6 
<4?OE 
7DG??4E. 

�45<=5F 
716 
�4G4?L= 
4O 
L>>?4 
���'% 
�, 78 

�D4>F 
<G5E>4 
O 
D45>F
4 

17  �D4>F<G5E>4 
O D45>F4 
«�45?N45=< 
5 74 
6<6>F=O<< 
6<6>7> 
G7>?>4». 

2  �7D4. �45<=5F 
716 
�4G4?L= 
4O L>>?4 
���'% 
�, 78 

�7D4 
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2.2. ���'���%&, �$��$���/ 

�4==4O <>45?L ?>76>?O5F >E6><FL ?D>7D4<<G 6 <=4<6<4G4?L=>< 
F5<?5 < G4>6?5F6>D<FL DO4 >5D47>64F5?L=OE 74?D>E>6, >>F>DO5 6 =4EF>OM55 
6D5<O =54>EF4F>G=> >55E?5G<64NFEO 6 D4<>4E >5M5>5D47>64F5?L=>= L>>?O < 
D45>FO 7DG?? 4>?>?=<F5?L=>7> >5D47>64=<O ?> F<?>6O< < 
<>4<D<F<D>64==O< ?D>7D4<<4<. 

$4==55 ?D<>5M5=<5 45F5= > <EE?54>64F5?LE>>= 45OF5?L=>EF< 
?>76>?O5F E GE?5E>< D5L4FL <=>7<5 >5D47>64F5?L=O5 ?D>5?5<O, =4?D<<5D, 
E6O74==O5 E <=4<6<4G4?L=O< ?>4E>4><, GD>6=56>= 4<DD5D5=F<4F<5=, E 
E>744=<5< ?>?>6<F5?L=>= GG55=>= <>F<64F<<, 5>?55 7?G5>><< < 
=5D>D<4?L=O< GE6>5=<5< ?D>7D4<<O, E ?D>D5EE<>=4?L=>= >D<5=F4F<5=. 

�4GG=4O < F5>D5F<G5E>4O 7=4G<<>EFL ?D>7D4<<O: 
3 >?D545?5=<5 F6>DG5E><E >E=>6 < =4?D46?5=<=

 ?>47>F>6><  L>>?L=<>>6; 
3D47D45>F>4 >E=>6 D>D<<D>64=<O <EE?54>64F5?LE>>= 45OF5?L=>EF< 

=4 D47?<G=OE >5D47>64F5?L=OE GD>6=OE; 
3 E?>E>5EF6>64=<5 D476<F<N F6>DG5E>>= 4>F<6=>EF< < 

=4?D46?5==>EF< 6 >5D47>64F5?L=>= 45OF5?L=>EF<. 
�D4>F<G5E>4O 7=4G<<>EFL ?D>7D4<<O: 
3 E>744=<5 D>D< E>FDG4=<G5EF64 L>>?L=<>>6, 6O?GE>=<>>6, 

?D5?>4464F5?5= < =4GG=OE E>FDG4=<>>6; 
3 D47D45>F>4 < D4E?D>EFD4=5=<5 D5>><5=44F<= ?> <5F>4<G5E>><G 

< ?D4>F<G5E>><G >55E?5G5=<N <EE?54>64F5?LE>>= < >5D47>64F5?L=>= 

45OF5?L=>EF<; 
3 D>D<<D>64=<5 ?D4>F<G5E><E =46O>>6 < ?D>D>D<5=F4F<O. 
� ?>E?54=<5 7>4O, 6 D4<>4E D45>FO ?> ?D>7D4<<5, =4G4?> D476<64FLEO 

=4?D46?5=<5 >><?LNF5D=>7> M>>?>7<G5E>>7> <>45?<D>64=<O 3 E>744=<5 
5<>?>7<G5E><E 547 44==OE, M?5>FD>==OE >4F4?>7>6. 

%>744=O < <E?>?L7GNFEO 6 >5GG5=<< < <EE?54>64F5?LE>>= D45>F5 
?D>7D4<<O: «�=F5??5>FG4?L=O5 <7DO ?> M>>?>7<< < >D456545=<N» < 4D., 

«�=F5D4>F<6=O5 <7DO ?> 7>>?>7<<» 
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2.3. '%����/ $������&�� �$��$���/ 
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�5>5E>4<<O5 D5EGDEO 4?O ?D>6545=<O 74=OF<= D47?<G=>7> F<?4: 
 
�><5M5=<O 4?O 74=OF<=, >5>DG4>64==O5 M?5>FD>E=4565=<5<, 

EF>?4<<, EFG?LO<<, L>4D4<<, EF5??464<<:, 5<5?<>F5>4, 45=4D4D<=, 6<6>= 
G7>?>>, F5??<F4; 

�5D5G5=L >5>DG4>64=<O, <=EFDG<5=F>6 < <4F5D<4?>6, 
=5>5E>4<<OE 4?O D54?<74F<< ?D>7D4<<O (6 D4EG5F5 =4 >>?<G5EF6> 
>5GG4NM<EEO): <<>D>E>>?O (1-2 LF.), D>F>4??4D4F, 5<=>>?L, F5?56<7>D, 
6<45><47=<F>D>=, 6<45>>4<5D4, ?D>5>F>D, >><?LNF5D, E>4=5D, ?D<=F5D, 
74?<EO64NM<= CD- ROM. �DG7>5 >5>DG4>64=<5 FD55G5FEO 6 746<E<<>EF< >F 
>>=>D5F=OE <EE?54>64F5?LE><E 7444G < =4?D46?5=<= D45>FO GG55=OE 7DG??: 
 

�EF5EF65==O5  =56<6O5: 
- >>??5>F<O =4E5>><OE; 
- >>??5>F<O E5<O=,; 
- 75D54D<< D4EF5=<=; - GGG5?4 ?F<F;  

�<6O5: 
- D4EF5=<O F5??<FO; 
- 6<6>F=O5 %.�. 

 
�E>GEEF65==O5: 
- 4<=4<<G5E><5 (4<4?>7<F<6O); - EF4F<G5E><5 ( D<EG=><). 
- E5?LE>>E>7O=EF65==O5 <=EFDG<5=FO; 
- ?G?O; 
- E<F4; 
- E>?><4; 
- 65D56>4; 
- ?45>D4F>D=4O ?>EG44; 

 
 $4744F>G=O= <4F5D<4?:  
- =45>DO >F>DOF>>, >4DF<=>>; 
- 5<>?>7<G5E><5 <7DO. 
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�=D>D<4F<>==>5 >55E?5G5=<5 (4G4<>-6<45>-D>F>- 
<=F5D=5F<EF>G=<><) 

- �?D545?<F5?< ?> D47?<G=O< 7DG??4< 6<6OE >D74=<7<>6 
(<7 E5D<=: «$4G=4 %%%$», «$4G=4 $>EE<<», «�?D545?<F5?< ?> D4G=5 %%%$ < 
$>EE<<»); «$?>D4 %%%$»; D57<>=4?L=O5 >?D545?<F5?< < 4D. ?>E>5<O, 
<5F>4<G5E><5 ?>E>5<O ?> >D74=<74F<< <EE?54>64=<= 6 ?D<D>45; - �=F5D=5F- 
<EF>G=<><: 

" .=O= =4FGD4?<EF 

" �>E>>6E><= 45FE><= M>>?>7>-5<>?>7<G5E><= F5=FD 

" '4E 75<?< 

" .==4FE>>5 46<65=<5 $>EE<< 

" �<64O ??4=5F4 

" �>EG44DEF65==O= �4D6<=>6E><= <G75= 

" �?G5 ?N5<F5?5= <4>D>-EN5<>< 

" �EF<>%D5D4 

" �E5D>EE<=E><= D5EF<64?L =4G>< 

" �?>7 >5 M>>?>7<< 4><4 < 74>D>6L5 G5?>65>4 

" %>G<=E><= �4F<>=4?L=O= �4D> 

" �5FE>>5 M>>?>7<G5E>>5 46<65=<O "�5?5=4O ??4=5F4" 

" �5?5=>5 46<65=<5 $>EE< "-��" 

" �<5?<>F5>4 45FE><E 6GD=4?>6 

" $545D4?L=O= ?>DF4? "$>EE<=E>>5 >5D47>64=<5" 

" �4<=4O >>??5>F<O F<DD>6OE >5D47>64F5?L=OE D5EGDE>6 

" $545D4?L=O= F5=FD <=D>D<4F<>==>-

>5D47>64F5?L=OE D5EGDE>6 

� ?D>F5EE5 D54?<74F<< ?D>7D4<<O <E?>?L7GNFEO F4><5 <5F>4<G5E><5 
?D<5<O, >4> <>F<64F<O < EF<<G?<D>64=<5, >>744 =4 ?5D6OE 74=OF<OE ?5447>7 
D>D<<DG5F <=F5D5E 6>E?<F4==<>>6 > >5GG5=<N < > E555, E>74464O E<FG4F<N 
GE?5E4, <E?>?L7GO ?D< MF><: E?>65E=O5, =47?O4=O5, 4G4<>6<7G4?L=O5, 
?D4>F<G5E><5 74=OF<O; ?>7=464F5?L=O5 <7DO; <5F>4O M<>F<>=4?L=>7> 
EF<<G?<D>64=<O; F6>DG5E><5 7444=<O; 4=4?<7, >5>5M5=<5, E<EF5<4F<74F<O 
?>?GG5==OE 7=4=<= < G<5=<=; ?D>5?5<=O5 ?><E>>6O5 D>D<O 74=OF<=; 
6O?>?=5=<5 D45>F ?>4 DG>>6>4EF6>< ?5447>74; 4>7<D>64==4O ?><>ML; 
E4<>EF>OF5?L=4O D45>F4; ?>47>F>6>4 > M>E?5D<<5=F4?L=>= D45>F5; >>=FD>?L 6 
6<45 M>E?5DF<7O, 4=4?<74 < >>DD5>F<<. 

$>D<O D45>FO: 
ø D4EE>47, ?5>F<< <?< 55E54O E <E?>?L7>64=<5< =47?O4=>7> 

<4F5D<4?4 4?O F5>D5F<G5E>>= G4EF< 74=OF<O; 
ø <7DO, E?>E>5EF6GNM<5 74>D5??5=<N ?>?GG5==OE 7=4=<=; 

http://unnaturalist.ru/index.php
http://www.mgsun.ru/
http://wwf.ru/
http://www.ecobiocentre.ru/
http://ukrrabbit.moy.su/
http://www.darwin.museum.ru/
http://macroclub.ru/
http://www.ichthyo.ru/
http://www.festivalnauki.ru/
http://ecologico.ru/
http://www.dendrarium.ru/news-dendrariy/182-qq-
http://www.greenplaneta.ru/
http://ecamir.ru/
http://detmagazin.ucoz.ru/load/66
http://www.edu.ru/
http://school-collection.edu.ru/
http://fcior.edu.ru/
http://fcior.edu.ru/
http://fcior.edu.ru/
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ø ?D4>F<G5E>4O D45>F4 45F5= E >5O74F5?L=O< <=EFDG>F465< ?> 
F5E=<>5 557>?4E=>EF<. �D< 6O?>?=5=<< ?D4>F<G5E><E D45>F 45F< 
?D<>5D5F4NF G<5=<O < =46O>< ?D>6545=<O =4GG=OE <EE?54>64=<=, D45>FO E 
?45>D4F>D=O< >5>DG4>64=<5<, <E?>?L7>64=<O >?F<G5E><E ?D<5>D>6, 

6O?>?=5=<O >E=>6=OE ?D<5<>6 <5F>4<> <EE?54>64=<=; 
ø 6<>F>D<=O,; 
ø M>E>GDE<< 6 ?D<D>4G, =45?N45=<O < M>E?5D<<5=F E?>E>5EF6GNF 

?>6OL5=<N 7=4=<= 45F5=, G<5=<N 6<45FL, ?>=<<4FL < 6>EE<M4FLEO >D4E>F>= 
?D<D>4O < 55D56=> > =5= >F=>E<FLEO. �5F>4O D45>FO: E?>65E=>-=47?O4=O=, 
65D54?L=O=, 454G>F<6=O=, ?><E>>6O=, ?D>5?5<=O=, >5=E - <5F>4, 
E4<>EF>OF5?L=4O D45>F4. 

�D< D>D<<D>64=<< >>??5>F<64 65?4F5?L=> GF>5O 6 >DG6>5 5O?< 
GG4M<5EO >4=>7> 6>7D4EF4. 

&5>D5F<G5E>4O >E=>64 445FEO 6 E6O7< E ?D4>F<G5E>>= D45>F>=, 
=45?N45=<O<< < >?OF4<<. 

�5>5E>4<<> GG<FO64FL 6>7D4EF=O5 >E>55==>EF< L>>?L=<>>6, <E 
5>?LLGN ?>46<6=>EFL, =5GEF>=G<6>EFL 6=<<4=<O. �5>5E>4<<4 ?>EF>O==4O 
E<5=4 45OF5?L=>EF<. $>D< < <5F>4>6 6 ?D>F5EE5 74=OF<O. �E5 >=< 4>?6=O 
E?>E>5EF6>64FL 6OD45>F>5 E>7=4F5?L=>7> < 55D56=>7> >F=>L5=<O >> 6E5<G 
6<6><G. 

&5>D5F<G5E>4O G4EFL 74=OF<O 4>?6=4 5OFL >D4F>>=, <>6=> 
<E?>?L7>64FL =47?O4=O5 ?>E>5<O, <=F5D4>F<6=O5 ED54EF64 >5GG5=<O. 
�D4>F<G5E><5 D45>FO 6O?>?=ONFEO ?> 765=LO<. %>5?N45=<5 F5E=<>< 
557>?4E=>EF< ?D< D45>F5 E >5>DG4>64=<5< 6E>4<F 6 GG55=>6>E?<F4F5?L=O5 
7444G< >5N54<=5=<O. � >>=F5 >464>7> 74=OF<O ?>?57=> ?D>6>4<FL 
674<<>>>=FD>?L, >5O74F5?L=> ?>46>4OFEO <F>7<. 

�D>6545=<5 74=OF<= 6 <7D>6>= D>D<5 ?>6OL45F <=F5D5E > 74=OF<O<. 
->E>GDE<< 6 ?D<D>4G 44NF 6>7<>6=>EFL DG>>6>4<F5?N G7?G5<FL <=F5D5EO 

GG4M<EEO, ?><>74NF D>D<<D>64FL 4DG65G 6 >>??5>F<65, ?D<>5D5EF<     
=46O><     <EE?54>64F5?LE>>=     45OF5?L=>EF<,    FDG4>?N5<5, 
>F65FEF65==>EFL < E4<>EF>OF5?L=>EFL. 

�4=OF<O 4>?6=O =>E<FL 5>?LL5= G4EFLN >D45654G5E><= E4D4>F5D. 
�D<EF4?L=>5 6=<<4=<5 N==4F>6 E?54G5F =4?D46<FL =4 <7GG5=<5 < >ED4=G 
?D<D>4O >D4O. $>D<O < <5F>4O D45>FO E 45FL<< D47=>>5D47=O. -F> 
=45?N45=<O, 74=OF<O (?D>EFO5 < >><??5>E=O5), M>E>GDE<<, <7D>6O5 
>5GG4NM<5 E<FG4F<< E <E?>?L7>64=<5< <7D, >4DF<=>>. 

2.4. �&���� ��$�����&��,�/% $��'�,&�&�� 

''�-�%%/ (�&&�%&�&�/) (���&��&�/, ��.I.) 
�D>6>4OFEO ?D><56GF>G=O= < <F>7>6O= >>=FD>?L ?> 4>?>?=<F5?L=>= 

>5M5D476<64NM5= ?D>7D4<<5 «/ - <EE?54>64F5?L». 
%<EF5<4 ?D>65D>< GD>6=O >E6>5=<O ?D>7D4<<O 
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�7DO, 6<>F>D<=O, FGD=<DO, <F>7>6O5 74=OF<O, GG4EF<5 6 >?<<?<444E: 
7>D>4E><E, E?5F<4?<7<D>64==OE, =4 GD>6=5 GGD5645=<O 4>?>?=<F5?L=>7> 
>5D47>64=<O. 

'G4EF<5 6 <EE?54>64F5?LE><E >>=D5D5=F<OE < >>=>GDE4E 3 =4 GD>6=5 
GGD5645=<O 4>?>?=<F5?L=>7> >5D47>64=<O, >5M57>D>4E><E, >D456OE, 
6E5D>EE<=E><E <  <564G=4D>4=OE. 

'G4EF<5 6 5<>?>7<G5E><E < M>>?>7<G5E><E >?<<?<444E D47=>7> 
GD>6=O, ?D>6>4<<OE 6 >5N54<=5=<<, GGD5645=<<, <G=<F<?4?<F5F5 < F.4. 
O6?O5FEO ?D>65D>>= =5 F>?L>> ?>?GG5==OE F5>D5F<G5E><E 7=4=<=, => < <E 
?D4>F<G5E>>7> >E<OE?5=<O. 

�>=D5D5=F<< <EE?54>64F5?LE><E D45>F ?>76>?ONF >F5=<FL 
MDD5>F<6=>EFL < EF5?5=L >E6>5=<O <4F5D<4?4 ?> <EE?54>64F5?LE>>= 
45OF5?L=>EF<. �D54EF46?5=<5 <EE?54>64F5?LE><E D45>F 4>?GE>45FEO 6 D>D<5 
GEF=>7> 4>>?444. �D< MF>< >464><G 6>E?<F4==<>G =5>5E>4<<> E>5?N44FL 
E>>F65FEF6GNM<5 FD55>64=<O, >>F>DO5 < O6?ONFEO >D<F5D<O<< >F5=>< (E<.: 
D4745? «�5F>4<G5E>>5 >55E?5G5=<5 ?D>7D4<<O»). 

�4==4O D>D<4 >>=FD>?O E?>E>5EF6G5F D>D<<D>64=<N G 
6>E?<F4==<>>6 >F65FEF65==>EF< 74 6O?>?=5=<5 D45>FO, ?>7<>< <OL?5=<O, 
G<5=<O 7>6>D<FL ?5D54 4G4<F>D<5=, >FEF4<64FL E6>U <=5=<5, ?D46<?L=> 
<E?>?L7>64FL =5>5E>4<<GN =4GG=GN F5D<<=>?>7<N, >>DD5>F=> < 7D4<>F=> 
65EF< 4<E>GEE<N. 

'G4M<5EO, GE?5L=> >E6><6L<5 ?D>7D4<<G, ?>?GG4NF 7D4<>FO, 
4<??><O < ?D<7O. 

$>D<O >FE?56<64=<O < D<>E4F<< >5D47>64F5?L=OE D57G?LF4F>6: 
- D>F>, 6<45>74?<E<; 
- 7D4<>FO; 
- >D>D<?5==O5 <EE?54>64F5?LE><5 D45>FO; 
- E6<45F5?LEF64, E5DF<D<>4FO; 
- EF4FL<. 

 
$>D<O ?D54NO6?5=<O < 45<>=EFD4F<< >5D47>64F5?L=OE 

D57G?LF4F>6: 
-=4GG=>-?D4>F<G5E><5 >>=D5D5=F<< «,47 6 5G4GM55», «-6D<>4», 

�%%�'�, >>=>GDE <<. �5D=44E>>7>, >>=>GDE <=EFDG<5=F4?L=OE 
<EE?54>64=<= >>DG64NM5= ED54O, E?5FO, D5EF<64?<, GF5=<O < 4D. 

- ?D474=<><, 4>F<<, <F>7>6O5 >FG5FO ?> >>>=G4=<N 7>44 («�O55D< 
6<7=L»); 

- ?>DFD>?<>; 
- EF4FL<, ?G5?<>4F<<; 
- ?>EFG??5=<5 6O?GE>=<>>6 ?> ?D>D<?N. 
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�F5=>G=O5 <4F5D<4?O, D4E>DO64NM<5 F5E=>?>7<G=>EFL < 
D57G?LF4F<6=>EFL D45>FO ?>  ?D>7D4<<5 

 
�>>474F5?O<< D57G?LF4F<6=>EF< E?G64F G<5=<O < =46O><, >>F>DO<< 

4>?6=O >5?444FL GG4M<5EO ?D< ?5D5E>45 >F >4=>7> >5D47>64F5?L=>7> GD>6=O 
=4 4DG7>=. $57G?LF4F<6=>EFL 45OF5?L=>EF< ?> ?D>7D4<<5, >D><5 D57G?OD=OE 
>F5=>G=OE 74=OF<= < 6O?>?=5=<O GG55=OE < <EE?54>64F5?LE><E D45>F, 
?>?GG45<OE G<5=<= < =46O>>6, >?D545?O5FEO E?54GNM<<< >D<F5D<O<<: 

1. $57G?LF4F4<< GG4EF<O 6 >>=>GDE4E, >>=D5D5=F<OE < 6 

>?<<?<444E. 
�5F<, >5GG4NM<5EO ?> ?D>7D4<<5 EF4=>6OFEO ?>554<F5?O<< 

D4=>==OE, 7>D>4E><E, �E5D>EE<=E><E >?<<?<44; >>=>GDE>6 < >>=D5D5=F<=. 
2. 'D>6=5< ?>47>F>6>< 6O?GE>=<>>6. 
� �'�O =4 5<>?>7<G5E><5 E?5F<4?L=>EF< GE?5L=> ?>EFG?4NF 

6O?GE>=<><. �=>7<5 <7 =<E, 5G4GG< EFG45=F4<< < 4E?<D4=F4<<, 4>F<6=> < 
GE?5L=> 74=OFO =4GG=>= 45OF5?L=>EFLN =4 D47?<G=OE >4D54D4E, 4 F4>65 
?><>74NF 6 74=OF<OE GG55=OE 7DG??. 

3. ,<D>F>= 45?>6>7> >5M5=<O E 4DG7<<< >D74=<74F<O<<. 
$57G?LF4FO GG55=>-<EE?54>64F5?LE>>= D45>FO <E?>?L7GNF 6 E6>5= 

45OF5?L=>EF< E?5F<4?<EFO ?D<D>4>>ED4==OE EFDG>FGD, �'�>6, 4 F4>65 
>>47O645FEO >>=EG?LF4F<6=4O ?><>ML DO4G L>>?L=OE < 6=5L>>?L=OE 
5<>?>7<G5E><E >5N54<=5=<=, >DG6>>6. 

4. �G5?<>4F<O<< GG4M<EEO > E6>5= =4GG=>-<EE?54>64F5?LE>>= 

45OF5?L=>EF<. 

'G4EF6GO 6 <EE?54>64F5?LE>>= 45OF5?L=>EF<, GG4M<5EO ?G5?<>GNF 
E6>< 4>>?44O, E>>5M5=<O < F57<EO 6 D47?<G=OE 6GD=4?4E < E5>D=<>4E 
(<=>744 E>6<5EF=> E DG>>6>4<F5?O<<). 

 

2.5.��&���'�%��� ��&�$���/: 
 

�5F>4O D45>FO: E?>65E=>-=47?O4=O=, 65D54?L=O=, 454G>F<6=O=, 
?><E>>6O=, >5=E - <5F>4, E4<>EF>OF5?L=4O D45>F4. 

�D< D>D<<D>64=<< >>??5>F<64 65?4F5?L=> GF>5O 6 >DG6>5 5O?< 
GG4M<5EO >4=>7> 6>7D4EF4. 

&5>D5F<G5E>4O >E=>64 445FEO 6 E6O7< E ?D4>F<G5E>>= D45>F>=, 
=45?N45=<O<< < >?OF4<<. 

�5>5E>4<<> GG<FO64FL 6>7D4EF=O5 >E>55==>EF< L>>?L=<>>6, <E 
5>?LLGN ?>46<6=>EFL, =5GEF>=G<6>EFL 6=<<4=<O. �5>5E>4<<4 ?>EF>O==4O 
E<5=4 45OF5?L=>EF< D>D< < <5F>4>6 6 ?D>F5EE5 74=OF<O. �E5 >=< 4>?6=O 
E?>E>5EF6>64FL 6OD45>F>5 E>7=4F5?L=>7> < 55D56=>7> >F=>L5=<O >> 6E5<G 
6<6><G. 
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&5>D5F<G5E>4O G4EFL 74=OF<O 4>?6=4 5OFL >D4F>>=, <>6=> 
<E?>?L7>64FL =47?O4=O5 ?>E>5<O, <=F5D4>F<6=O5 ED54EF64 >5GG5=<O. 
�D4>F<G5E><5 D45>FO 6O?>?=ONFEO ?> 765=LO<. %>5?N45=<5 F5E=<>< 
557>?4E=>EF< ?D< D45>F5 E >5>DG4>64=<5< 6E>4<F 6 GG55=>6>E?<F4F5?L=O5 
7444G< >5N54<=5=<O. � >>=F5 >464>7> 74=OF<O ?>?57=> ?D>6>4<FL 
674<<>>>=FD>?L, >5O74F5?L=> ?>46>4OFEO <F>7<. 

�D>6545=<5 74=OF<= 6 <7D>6>= D>D<5 ?>6OL45F <=F5D5E > 74=OF<O<. 
->E>GDE<< 6 ?D<D>4G 44NF 6>7<>6=>EFL DG>>6>4<F5?N G7?G5<FL <=F5D5EO 

GG4M<EEO, ?><>74NF D>D<<D>64FL 4DG65G 6 >>??5>F<65, ?D<>5D5EF<     
=46O>< <EE?54>64F5?LE>>= 45OF5?L=>EF<, FDG4>?N5<5, >F65FEF65==>EFL < 

E4<>EF>OF5?L=>EFL. 
'G4EF<5 6 5<>M>>?>7<G5E><E >?<<?<444E D47=>7> GD>6=O O6?O5FEO 

?D>65D>>= =5 F>?L>> ?>?GG5==OE F5>D5F<G5E><E 7=4=<=, => < <E 
?D4>F<G5E>>7> >E<OE?5=<O. �>=D5D5=F<< ?>76>?ONF >F5=<FL MDD5>F<6=>EFL 
< EF5?5=L >E6>5=<O <4F5D<4?4 ?> <EE?54>64F5?LE>>= 45OF5?L=>EF<. 
�D54EF46?5=<5 <EE?54>64F5?LE><E D45>F 4>?GE>45FEO 6 D>D<5 GEF=>7> 
4>>?444. �D< MF>< >464><G >5GG4NM5<GEO =5>5E>4<<> E>5?N44FL 
E>>F65FEF6GNM<5 FD55>64=<O, >>F>DO5 < O6?ONFEO >D<F5D<O<< >F5=>< 
�4==4O D>D<4 >FGUF=>EF< E?>E>5EF6G5F D>D<<D>64=<N G 6>E?<F4==<>>6 
>F65FEF65==>EF< 74 6O?>?=5=<5 D45>FO, ?>7<>< <OL?5=<O, G<5=<O 7>6>D<FL 
?5D54 4G4<F>D<5=, >FEF4<64FL E6>U <=5=<5, ?D46<?L=> <E?>?L7>64FL 
=5>5E>4<<GN =4GG=GN F5D<<=>?>7<N, >>DD5>F=> < 7D4<>F=> 65EF< 
4<E>GEE<N. 
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2.6.  $45>G4O ?D>7D4<<4 6>E?<F4=<O  
?5447>74 4>?>?=<F5?L=>7> >5D47>64=<O 

______________________________________________________________ 

=4 20____3  20____ GG55=O= 7>4 
 

1. �>OE=<F5?L=4O 74?<E>4 
 

�>E?<F4F5?L=4O <>45?L 6 4>?>?=<F5?L=>< >5D47>64=<< 547<DG5FEO 
=4 F><, GF> 6>E?<F4=<5 D4EE<4FD<645FEO, ?D5645 6E57>, >4> >D74=<74F<O 
?5447>7<G5E><E GE?>6<= < 6>7<>6=>EF5= 4?O >E>7=4=<O D555=>>< 
E>5EF65==>7> ?<G=>EF=>7> >?OF4, ?D<>5D5F45<>7> =4 >E=>65 <56?<G=>EF=OE 
>F=>L5=<= < >5GE?>6?5==OE <<< E<FG4F<=, ?D>O6?ONM57>EO 
6 D>D<5 ?5D56<64=<=, E<OE?>F6>DG5EF64, E4<>D476<F<O. 

�46=> >F<5F<FL, GF> >?OF ?>7<F<6=OE >F=>L5=<= 6 45FE>>< 
>5N54<=5=<< <>6=> ?>?GG<FL F>?L>> 6 4F<>ED5D5 674<<>?>=<<4=<O, 
E>FDG4=<G5EF64, <E>D5==>EF<, >><D>DF=>= ?E<E>?>7<G5E>>= >5EF4=>6>5, 
?>76>?ONM5= >464><G D55U=>G < ?5447>7G D54?<7>64FL E6>= ?>F5=F<4?. 
�>7<>4 6OEFD4<64=<O >5D47>64F5?L=>= <>45?< E 45FL<< EFD><FEO =4 
74D<>=<G=>< ?5D5??5F5=<< >5D47>64=<O, >5M5=<O, 45OF5?L=>EF<, >F=>L5=<=, 
>>F>DO5 >?D545?ONF ?>7<F<6=O5 <7<5=5=<O 6 45FE>>< >>??5>F<65 < E>744NF 
>><D>DF=GN ED54G 4?O F6>DG5E>>= 45OF5?L=>EF<. �D<6?5G5=<5 >5GG4NM<EEO 
> ??4=<D>64=<N 6<7=< 6 45FE>>< E>>5M5EF65, >55E?5G5=<5 64D<4F<6=>EF< <E 
GG4EF<O 6 45?4E >>??5>F<64, E>6<5EF=4O 6OD45>F>4 =>D< 6<7=545OF5?L=>EF<, 
E>ED4=5=<5 F5==>EF5=, =>D<, FD44<F<= 6<7=< >?D545?ONF ?>7<F<6=O5 
<7<5=5=<O 6 >5M=>EF< < 6 >>DG64NM5= 45=EF6<F5?L=>EF< < ?564F 6 >E=>65 
E4<>D476<F<O D55U=>4. 

� >5D47>64F5?L=>= 45OF5?L=>EF< 45FE>>7> >5N54<=5=<O 
>EGM5EF6?O5FEO =5 F>?L>> ?D<>5D5F5=<5 7=4=<= < =46O>>6 ?> >>=>D5F=>= 
?D>7D4<<5, => < E>744NFEO GE?>6<O 4?O ?D>O6?5=<O <=<F<4F<6O, 4>F<6=>EF<, 
F6>DG5EF64, ?<45DE>>= ?>7<F<<. �D< MF>< 5>?LL>5 6=<<4=<5 G45?O5FEO 
E>744=<N D476<64NM5= ED54O, 74>D5??5=<N <>F<64F<< > >>=>D5F=><G 6<4G 
45OF5?L=>EF<, 6OO6?5=<N < 4>F<6<74F<< 6=GFD5==<E D5EGDE>6 >5GG4NM<EEO. 

$5L5=<5 7444G< >5M57> D476<F<O >5GG4NM<EEO E <E?>?L7>64=<5< 
=5EF4=44DF=OE D>D< < <5F>4>6 >5GG5=<O < 6>E?<F4=<O EF<<G?<DG5F 
4>F<6=>EFL >5GG4NM<EEO, EF46<F <E 6 EG5N5>F=GN ?>7<F<N, ?D54>EF46?O5F 
<< 6>7<>6=>EFL 4?O E4<>6OD465=<O, D476<645F <E F6>DG5E><5 E?>E>5=>EF<. 
�D>7D4<<O D>D<<DGNF 7>F>6=>EFL > 6O5>DG D47=>>5D47=OE 6<4>6 
45OF5?L=>EF< < ?D>4G>F<6=>7> 674<<>45=EF6<O. 

�5GG4NM<5EO ?>?GG4NF 6>7<>6=>EFL ?D>O6<FL < D476<FL 
E4<>EF>OF5?L=>EFL, F6>DG5EF6>, D54?<7>64FL E6>< <=F5D5EO, ?D<<5=<FL E6>N 
=4E>4G<6>EFL, G<5=<5 ?D<=<<4FL 65D=O5 D5L5=<O 6 GE?>6<OE 5OEFD> 
<5=ONM<EEO E<FG4F<=. 

�D54>EF46?5=<5 6>7<>6=>EF< D55U=>G 6OEFG?<FL 6 E4<OE 
D47=>>5D47=OE D>?OE, 4>F<6=> >E64<64FL M?5<5=FO D47?<G=OE 6<7=5==OE 
E<FG4F<= 74>D5??ONFEO 6 <E E>7=4=<< < ?>6545=<< < >F>?44O64NF >F?5G4F>> 
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=4 44?L=5=LGN 6<7=L. �444G4 ?5447>74 6 ?D>F5EE5 D54?<74F<< ?D>7D4<<O 
>55E?5G<FL ?5447>7<G5E>GN ?>445D6>G ?D>F5EE4 D476<F<O < >5>74M5=<5 
?>7=464F5?L=OE < E>F<4?L=OE 6>7<>6=>EF5= 45F5=, ?><>74FL << 74=OFL 
4>F<6=GN ?>7<F<N 6 >>??5>F<65, ?D<44FL >5M5EF65==GN =4?D46?5==>EFL <E 
G6?5G5=<O<, ED>D<<D>64FL E4<>EF>OF5?L=>EFL < =5746<E<<>EFL 6 5G4GM5<, 
GF> O6?O5FEO 646=O< D4>F>D>< D>D<<D>64=<O 6<7=5==>7> < 
?D>D5EE<>=4?L=>7> E4<>>?D545?5=<O. 

 

2. %4D4>F5D<EF<>4 45FE>>7> >5N54<=5=<O  
 

�4<<5=>64=<5_____________________________________________________ 

�4?D46?5==>EFL___________________________________________________ 

$>D<4 >5GG5=<O (<=4<6<4G4?L=4O, 7DG??>64O) _________________________ 

�>7D4EF=4O >4F57>D<O______________________________________________ 

�>?<G5EF6> >5GG4NM<EEO  45FE>>7> >5N54<=5=<O: 
7DG??4 1 _________________G5?>65> 

7DG??4 2 _________________G5?>65> 

7DG??4 3 _________________G5?>65> 

 

�7 =<E: <4?LG<>>6 3 __________, 456>G5> 3 __________(G>474FL ?> 7DG??4<) 
 

3. &5?L, 7444G< 6>E?<F4F5?L=>= D45>FO   
 

&5?L 6>E?<F4=<O 3 D>D<<D>64=<5 F6>DG5E>>= 6>E?<FO64NM5= ED54O 
6 45FE>>< >>??5>F<65, E?>E>5EF6GNM5= D>D<<D>64=<N 74D<>=<G=> D476<F>= 
?<G=>EF<, E>F<4?L=> 444?F<D>64==>= < >F65FEF65==>=, ?D>D5EE<>=4?L=> 
>D<5=F<D>64==>= ?<G=>EF<. 

�444G< 6>E?<F4=<O: 
1. $54?<74F<O ?>F5=F<4?4 45FE>>7> >5N54<=5=<O 6 6>E?<F4=<< 

>5GG4NM<EEO, ?>445D6>4 4>F<6=>7> GG4EF<O >5GG4NM<EEO 6 6<7=< 
GGD5645=<O, G>D5??5=<5 >>??5>F<6=OE F5==>EF5=: 

2 >D74=<74F<O <=F5D5E=OE < ?>?57=OE 4?O ?<G=>EF=>7> D476<F<O 
>5GG4NM<EEO E>6<5EF=OE 6>E?<F4F5?L=OE E>5OF<=, >>??5>F<6=OE 
F6>DG5E><E 45?, E?>E>5EF6GNM<E G>D5??5=<N FD44<F<=, D>D<<D>64=<N < 
D476<F<N >>??5>F<64, E4<>D54?<74F<< 45F5= < ?>4D>EF>>6 < ?>?GG5=<N <<< 
E>F<4?L=>7> >?OF4, D>D<<D>64=<5 ?>6545=G5E><E EF5D5>F<?>6, >4>5DO5<OE 
6 >5M5EF65;  

2 6OD45>F>4 =>D< < ?D46<? E>6<5EF=>= 6<7=545OF5?L=>EF<;  
2 ?>445D6>4 D555=>4 6 D5L5=<< 646=OE 4?O =57> 6<7=5==OE ?D>5?5< 

(=4?46<64=<5 674<<>>F=>L5=<= E 4DG7<<< 45FL<<, ?<G=O= < E>F<4?L=O= 
>?OF 6 >>=>D5F=OE 6<44E < =4?D46?5=<OE 45OF5?L=>EF<, 6 F>< G<E?5 6 D4<>4E 
?D>7D4<<=>7> E>45D64=<O);  

2 >>DD5>F<O ?>6545=<O D555=>4 G5D57 <=4<6<4G4?L=O5 55E54O E =<<, 
57> D>4<F5?O<< (74>>==O<< ?D54EF46<F5?O<<), E 4DG7<<< G?5=4<< 45FE>>7> 
>5N54<=5=<O. 

2. $54?<74F<O 6>E?<F4F5?L=>7> ?>F5=F<4?4 4>?>?=<F5?L=>= 
>5M5>5D47>64F5?L=>= >5M5D476<64NM5= ?D>7D4<<O:  
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3 6>E?<F4=<5 ?N56< > D>4=><G >D4N;  
3 6>E?<F4=<5 >G?LFGDO ?>6545=<O;  
3 6>E?<F4=<5 >F65FEF65==>7> >F=>L5=<O > ?D<D>4=>= < 

E>F<>>G?LFGD=>= ED545. 
3. �D74=<74F<O D45>FO E E5<LO<< >5GG4NM<EEO, <E D>4<F5?O<< <?< 

74>>==O<< ?D54EF46<F5?O<<, =4?D46?5==>= =4 E>6<5EF=>5 D5L5=<5 ?D>5?5< 
?<G=>EF=>7> D476<F<O >5GG4NM<EEO;  

4. $>D<<D>64=<5 ?>7<F<6=>7> G>?444 6<7=< GGD5645=<O < 
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45OF5?L=>EF<  6 

45FE><E >5N54<=5=<OE 
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E>5OF<=, E?>E>5EF6GNM<E E??>G5=<N 
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45F5=, <E D476<F<5 =4 >E=>65 
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 �>=>GDE=4O 

?D>7D4<<4 4?O 

N=>L5= 

�<>>?LE><= 
�. �. 

21 «,<D>>4O 

�4E?5=<F4» 
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